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Oueestion Number ¢ 1 Quoestion [d : S431079184 Cuestbon Type : MOOQ Optlon Shalfling : Yes DMsplay OQuestion Number @ Yes
Single Line Question Cpibon @ Mo Option Orientation @ YVertical Allowed Progression @ Yes Muomber of Replay 1 999 Play On Load :

Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Cestion Label : Multiple Choice Juestion

Forensic analysis technigues may include

Oiptions :
1

Principle of Exchange

collegedunia:
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= Law of Individuality
5 Law of probability

i All of the three

Question Number ; 2 Question Id : 3431079185 Question Type : MCQ Option Shuffling : Yes Display Chuestion Number © Yos
Sir@f:: Line {E.nﬂsliun ?pﬁlﬂl i Mo Option Orientation : Yertical Allvwed Progression : Yes Namber of Replay : 999 Play On Laoad ;
Mo Controd Enable : Yes

Correct Marks : 3 Wroog Marks ; 1
Cuestion Lake] - Multiple Choice Cuestion

"Forensic” comes from the word -

Options =
Fraud
1.

Forum
Z,

Firearm
=

" Fixed evidence

Oueestion Number : 3 Question Dd < S431079186 Quuestion Type < MOQ Option ShufMling : Yes Display Question Number @ Yes
ﬁiﬂﬂ::f !-lm??uﬁ.%hngpﬂm : Mo Option Orientation : Vertical Allowed Progresdon : Yes Numiber of Replay : 999 Play On Load -
o Cont nable : Yes

Correct Marks : 3 Wrong Marks 1 1
Question Label | Multiple Choice Question

‘Swwabbing' 1= a method for

Options :

: collection of big particles of binlogical fluid

collection of minute particles of biological fluid
- deposition of minute particles of biological thuids on body

collection of evidence from a large and open area

Ouestion Number : 4 Qoestion Id : 3431079187 Cuestion Type : MOQ Option Shuifling : Yes Display Cuestion Number @ Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression @ Yes NMomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Lab«l - Multiple Choice Cuesticn
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Serum 15 the liquid component of blood left behind :

Options :
k betore clotting of the blood

» after clotting of the blood

3 before decomposition of the blood

i after decomposition of the blood

COuiestion Number : 5 (oestion [d : 3431079188 Cuestion Type : MO Option Shuitling : Yes Display Question Number @ Yes
Kingle Line Quoestion Cption : Mo Option Orientation : Yertical Allowed Progression : Yes Nomber of Replay @ 999 Play On Load =
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Laktel - Multiple Chowes Question

Skid marks are -

Opilons =
1 the frichon betwween the tyre and road

5 the friction between two vehicles

3 the friction betwween the adjomning roads

b the frictiom betiveen the break of a vehicle and the road

Quiestion Number : 6 Quoestion Id : 5431079189 Cuestion Type : MO Option Shuffling : Yes DMsplay CQuiestion Mumber @ Yes
Single Line Question Cpiion @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Chotce Cuestion

Strangulation can be defined as:

Options :
, deprivation of food and fluid which iz necessary to maintain life

a form of asphynaal death caused by obstruction of air to the lungs without

o COmpression of neck

a form of violent death where the constricting force on the neck is applied

iy from outside by some ligature material
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the compressions of the neck due to organ failure during blood circulation

4 nthe body

Oueestion Number : 7 Question Id : S43007T9090 Question Type : MOQ Option ShulTling : Yes Display Question Number : Yes
%:ﬂn.% Lim%uaséinm?plim:m Orption Orrientation : Yertical Allowed Eogrmim: es Noimber of Beply : 999 Play On Load ;
v Cond mible : Yes

Correct Marks : 3 Wrong Marks 3 1
Cuestion Label : Multiple Choice Cuestion

Detonation proceeds with :
Oiplions =

a reaction propagated by high temperature and low pressure in a shock
1 wave

a reaction propagated by low temperature and high pressure in a shock
5 Wave

a reaction propagated by lhigh temperature and high pressure in a shock

g wave

a reachon propagated by low temperature and low pressure in a shock

4 Wave

Question Number ; 8 Question Td ; 3431079191 Guestion Type : MCQ - Option Shuffling : Yes Display Cuestion Nomber : Yes
ﬁingg Line {E;::I:Iiun gptlun : Mo Dwption Orientation : Yertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Losd :
v Comtrod £ Yes

Correct Marks : 3 Wrong Marks ; 1
Cueshon Lake] @ Multiple Chowte Caeshion

Cyanosis reflects :

Options :
vellowish colour of skin and muacous membranes because of lack of oxygen

j in the blood

bluizh colour of skin and mucous membranes because of lack of oxvgen in
> the blood

black colour of skin and mucous membranes because of lack of oxygen in
3 the blood

pale-velloww colour of skin and mucous membranes because of lack of
4 oxveen m the blood
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Ouestion Number @ 9 Question Bd : S431079192 Cuestion Type : MO Option Shulfling : Yes Display Question Number @ Yes
Single Line Question Option : o Option Orientation : Yertbcal Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label | Multiple Choice Question

Antemortem means -
Cipiions =
" After the death or after the life of an organism

o During the life of an animal

3 Just at the time of death of an organi=m

4 Before the death or during the life of an organizm

Cuestion Number @ 10 Question Ld : 34301079193 Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Optien @ Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks: 1
Ciestion Label | Multiple Choice Question

Algor mortis is the :
Oplions :
i heating of the body which takes place after death

3 cooling of the body which takes place after death

5 decomposition of the body which takes place after death

g normal temperature of body which maintains even after death

Cuestion Number : 11 Quoestion Td : S43007919%4 Question Type : MOOQ Option Shoffling : Yes Display Question Nomber @ Yes
Single Line Coestion Chption @ Mo Option Orientation : Yertical Allvwed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Question

Daliriunt is -
Oiptions =

\ Ordered phys=ical state of the body

5 Dizordered mental state with excitement and incoherent speech
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- Pamnin the stomach due to the gaseous evolution

, Prunken state of the mind with incoherent speech

Ouiestion Number @ 12 Question Id @ 5430079195 Questbon Type @ MOOQ Option Shaffting : Yes Display Questhon SNamber @ Yes
Single Line Question Option : No Option Orientation @ Vertical Allowed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Coestion Label : Multiple Choice Guestion

Deontology iz a:
Oiptions :

branch of anatomical science which deals vwith teeth
. branch of anatomical science which deals with brain

" branch of anatomical science which deals with leg bones

branch of anatomical science which deals with finger bones
4

Ouiestion Number : 13 Question 1d : 543107919 Cuestion Type : MOQ Optien Shoffling : Yes Display Question Number : Yes
iiﬂng'? I.ln::ltll?ue.s;‘hn %punn + Mo Option Orientation : YVertical Allowed Progression : Yes Number of Beplay : 999 Play On Load -
v Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label © Multiple Choice Guesticn

Tranquilizers are

Oipiions =

Drugs those can be used for the treatment of bone cancers
1

5 Drugs those stimulate central nervous syvstem

- Drugs those induce calmness and reduce anxiety

Drugs those slow down brain activity
4

OQuestion Number @ 14 Question Ld : 34301079197 Question Type : MOQ Optlon Shuffling : Yes Display Cruestbon Mumber @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
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Cuestion Label | Multiple Chowce Question
Putrefaction relates o -

Options :
; preservation of matters effected largely by microorgamsms

’ decomposition of matters effected ].r].l'E'E‘I:i.-' by microorganisms

" purification of matters largely effected by microorganizms

4 collectiom of matters that are not found due to microorganizms

OQuestion Number : 15 Question Id : 3431079198 CQuestion Type : MOOQ Optlon Shulfling : Yes Display Question Namber : Yes
Single Line Question Cplion @ Mo Option Orientation : Yertical Allvwed Progression : Yes Momber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Cuesticn

Gait pattern refers to

Options =
a series of footprints or imprezsions which are formed due to walking or

; Tunning of a person

a series of footprints or impressions which are formed while committing
o Crme

a series of propellant conung out when a cartridge 15 fired
3.

a series of burning pattern in the shape ot a hunnel opening upward

Cmestion Number @ 16 Quoestion Td @ 34301079099 Question Type : MOQ Option Shoffling : Yes Display Question Momber : Yes
Single Line Quoestion Opticn @ Mo Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Labl © Mudtple Choce Ouesnon

‘Heavy water' 1= used in which of the following fields ?

Oiptinns -
Textile Industry
1.

Cement Industey
2, Z
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Irom and steel Industrey
3 F

» Nuclear Power Industry

Cestion Number : 17 Question Id : 3430079200 Question Type : MOQ Option Shoffting : Yes Display Cuestion Mumber @ Yis
Single Line OQuestion Option : Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : ¥ YWrong Marks : 1
Cuestion Latesl | Multiple Choice Caestion

Which of the following phenomenon i= the most important causze of current
‘Global warming' ?

Options :
Green house effect

Dry farnung
2.

Monsoon
3

Fire and coal mines
4

Cruestion Number ; 18 Question Ld : 3431079200 Question Type : MOQ Option Shaffling : Yes Display Question Sumber : Yes
!ginglr Line {%uﬁl:lhn li:.'ptlm : Mo Option Orientation : Yertical Allwwed Progresion : Yes Nomber of Beplay : 999 Play On Logd :
i Control Ensble : Yes

Correct Marks : 3 Wroog Marks ; 1

Cuestion Lake] @ Multiple Chowce Cueshon
Water will not be vaporized if -
Options =

i the temperature is 0°C

&5 the hurmdity is 0%

g the humidity iz 100%

£ the temperature iz 100°C

Cueestion Number @ 19 Question Id : 3431079202 CQuestion Type : MO Option Shuffling : Yes Display Question Number @ Yes
Single Line Quoestion Cption © No Option Orientation : Yertical Allowed Progression : Yes MNomber of Replay : 999 Play On Load :

Mo Control Enable : Yes
gco! legedunias
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Cuestion Label | Multiple Chowce Question
The Bhopal Gas Tragedy was caused by the gas :

Options :
i Phosgene

5 Carbon monoxide

5 Methyl isocyanate

4 Chlorine

Question Number : 20 Question Td 3 5430079208 Cuestion Type : MOQ Optien ShalTliog : Yes Display Question Number : Yes
EIM&!.E::I%M.:‘hn ?pﬂml £ Mo Option Orientadion @ Yertical Allowed Progression : Yes Nomber of Replay @ 999 Play On Lod :
o Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Chowce Cuestion

Which of the following is a property of diffusion ?
Opilons =
i Slowest in liquids

Fastest in gases
=

Based on motion of particles

A All of the three

Oueestion Number : 21 Question [d : S430079204 Question Type : MOQ Option Shulfling : Yes Display Question Number : Yes
ﬂ]hgh Lr:l;??mﬁhn Epn-m Mo Option Orientation § Yertical Allvwed Progresion : Yes Nomber of Reply : 999 Play On Laoad ©
Cont mible : Yes

Correct Maorks : 3 Wrong Marks 5 1
Cuestion Label | Multiple Choice Cuestion

The pitch of sound depends on

Opiions =
frequency
I

mtensiby
o )

velocity
2. -

gcol legedunias
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amplitude
g

Cuestion Number @ 22 Question Id : S4310TYI05 CQuestion Type : MO Option Shuaifling : Yes Display Ouestion Mumber @ Yes
i’qu Linme Croestion Chplion ; Mo Option Cheientation @ Vertical Allovwed Progression : Yes Nomber of Replay : 299 Play On Load ©
w0 Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
iZJuestion Label : Multiple Choice Caestion

Bakelite iz a copolymer of phenol and :

Oiptiions :
: Formaldehyde

Acetaldehyde
Benzaldehyde

Cinnaldehyvde

Ourestion Number @ 23 Quoestion Id : 3431079206 CQuestion Type : MO Option Shuaffling : Yes Display Cuestion Number @ Yes
Single Line OQuoestion Option @ Mo Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Labl © Mudtple Choce Ouesnon

Which one of the following is a conductor of electricity ?

Oiptions :

. Rubhber

Pure water
2
Salt water

Benzene

Cuiestion Number @ 24 Question Id : 3431079207 Question Type : MOOQ  Option Shoffling : Yes Display Questlon Number @ Yes
Single Line Question Cption @ Mo Option Orientaton @ Yertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label @ Multiple Choice Question

A tree like structure of records in a database is
Oiptions =

gcoi legedunias
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; MNetwork model
7 Hierarchical model

3 Eelational model

y Multi-dimensional mndel

Ouiestion Number : 25 Quoestion Dd ; SA30T9208 Guestion Type = MOQ Optien SholTling ; Yes Display Question Number : Yes
ﬁinﬂ(:: Li:&%:“ﬁtldhn %pﬁm Mo Option Drientation : Vertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Load :
v Cont e: Ve

Correct Marks : 3 Wrong Marks : 1
Cuestion Label © Multiple Choice Guesticn

Which of the following indicator i= uzed in determunation of hardness ?

Oiptions :
. Phenaolphthalemn

: Methyvl Orange
. Eriochrome Black T

i Thymuol blue

Ouiestion Number : 26 Question Td ; S43079200 CGuestion Type = MOQ Option SholTling : Yes Display Question Namber : Yes
img‘lf L.::rl%;uﬁt'nlh“ Ohptiaen ;Mo Oyption Oreientation : Vertical Allowed Frogression : Yes Nomber of Replay : 999 Play On Laoad ;
o Conl [

Correct Marks : 3 Wrong Marks : 1
Zuestion Label : Multiple Choice Question

When a zpoon i to be electroplated with nickel, the spoon iz -

Oiptions =
\ dipped in a nickel sulphate solution
made anode and a pure nickel rod, the cathode

5 made cathode and pure nickel rod, the anode

4 Coated with nickel 5111Phal'e and dried
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Ouestion Number : 27 Question Ld : S430079210 Question Type @ MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Magnifying Glass is basically a

Uiplions =
plano-concave lens

concave lens

. comvex lens

cvlindrical lens

Cueestion Number @ 28 Question Id @ 3431079211 Question Type : MO Option Shuaffling : Yes Display Question Number @ Yes
Single Line Quoestion Cption @ Mo Option Orientation : Yertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuesnon Labe] @ Multiple Chowte CQuestion

Which of the following twrits can lie only against a person halding a public
ottice ?

Options :

; Habeas Corpus

Mandammus

Prohibition
3

Certiorarn

Cuestion Numler @ 29 Question Id : 3431079212 Question Type : MO Option Shoffling : Yes Display Question Namber @ Yes
Single Line Question Option : Mo Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Loead :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuesnon Late] - Multiple Chowte Question

The only bird that flies backward is :
Options =

y Sparrow

gco! legedunias
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Cuckoo
2

& Siberian crane

" Humming bird

Ouestion Number : 30 Question Td : 5431079213 Question Type : MOQ Optlon Shuffling : Yes Display Questhon Mumber : Yes
Single Line Question Cpiion @ Mo Option Orientation : YVertical Allowed Progression @ Yes Momber of Replay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 Wrong Marks : 1
Cuestion Label © Multiple Chotce Cuestion

Railway tracks are banked at the curves so that -

Ciplions -
necessary centrifugal force may be obtamed from the horizontal component
y of the weight of the train

no frictional force mayv be produced between the tracks and the wheels of
> the train

necessary centripetal force may be obtained from the horizontal component
of the weight of the train

the train may not fall dovwn inwards

ion Number ; 31 Question Id ; 3431079214 Question Type : MOQ  Option Shoffling : Yes Display Question Number : Yis
Sh:nngl':: Li::l%nmliun gptiun Mo Option Orientation : Yertical Allwed Propgresion ; Yes Nomber of Beplay @ 999 Play On Lood ;
. onl mnble : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labesl @ Multiple Choice Coestion

‘Crop milk’ is produced by :
Oiptinns :

;. Birds

Reptiles
EEP

5 Manumnals

i All of the three
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Ouestion Number @ 32 Question Ld : 3431079215 Question Type : MOGQ Option Shuffling : Yes Display Cruestbon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Cuestion Label | Multiple Choice Question

Which one ot the following crops is aftected by the "early blight” dizeaze ?
Options =

Eice
1

i ._"-'.ugarmna

Patato
3

Wheat

Crestion Number : 33 Question Td : SA3079216  Cuestion Type : MOOQ Opien Shallling : Yes Display Question Samber © Yes
‘ngf:e er%mﬁmn Orplion : Mo Option Orientation : Vertical Allowed Progression : Yes Nomber of Replay 0 999 Play On Lied -
o LUonl nable

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Choice Cuestion
When the cut stems of two ditferent plants are joined together in such a wav
that the two stems join and grow as a single plant, it is called :

Options :

. Grafting

Cuttin
5 i

5 Layering

None of the three

Ouiestion Number ¢ 34 Quoestion Id : S43007T9217 Cuestion Type : MC0Q Option Shuoiffling : Yes Display Question Number : Yes
Single Line Question Option @ No Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

Cuestion Label - Multiple Chotce Question

Thumba' India's Rocket launching centre iz located in .

Oiptinns :
Harvana

gcoi legedunias
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g Maharazhtra

5 Tamil Madu

Kerala
4

Ouestion Number : 35 Question Id : S4310T9218 Cuestion Type : MOQ Option Shuffling : Yes Display Cuestion Number : Yes
Single Line Quoestion Cplion @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : %99 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks @ 1
Cuestion Labe] @ Multiple Chowce Cuestion

Which of the tollowing i= a mineral ?

Options =
Isabgal

5 Camphor

Tobacco

Nickel
a

Ouestion Mumber : 36 Question Td : 3430079209 Question Type © MOQ Opdion Shuifling : Yes Display Question Namber : Yes
ﬂngl!’t !.lm%uﬂgliun gplhm ¢ Mo Ohption Orientation @ Veriical Allowed Frogression : Yes Number of Replay @ 999 Play On Laod
v Lot mihle : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chowce Question

Which term iz used in Physics ?

Ohptions ;
Credit

Ab=nlute zero
2

Liquidity

Rabies
4.

Chuestion Number : 37 Quoestion Id : 3431079220 Question Type : MOG) Option Sholtting : Yes Display Cuestion Somber : Yes
Single Line Question Option : Mo Option Orientation : Vertical Alowed Progression ; Yes Nomber of Replay @ 999 Play On Load :
Mo Controed Enable : Yes

Correct Marks : 3 YWrong Marks ; 1
gcnilegedumaa

Il ' L st Siusa et v Plalars

-



Cuestion Label | Multiple Chowce Question

Which af these iz not an output device ?

Optiinns =
; Inkjet Printer

Plotter

Optical Character Recognizer

Speaker

COuiestion Number : 38 Question Td @ SE3079221 Question Type @ MOOQ Optios Shoffling : Yes Daplay Question MNumber @ Yes
Single Line Question Cption @ Mo Option Orientation : YVertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Suestion Label : Multiple Chotce Question

A CEIII'!.]_JIJ.‘['E‘T Progranumner

Opilons =
i does all the thinking for a computer

, can enter input data quickly
5 Can operate all types of computer equipments

4 can draw enly How chart

Ouiestion Number : 39 Question L : S431079222 (uestion Type @ MOQ Optien Shulfling : Yes Display Question Number : Yes
Eingg ”::q%m;qh“ gpllm Mo Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load -
v Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label ; Muitiple Choice Question

Which one of the following metals occurs in a free state ?

Options :
Aluminium

gcol legedunias
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2 Cnpper

Oueestion Number @ 40 Question Id : 5431079223 Question Type : MOQ Option Shuflling : Yes Display Cuestion MNumber @ Yes
Single Line Question Option @ XNo Option Orientation : Yertical Allowed Progression @ Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuesnon Labe] @ Multiple Chowte CQuestion

Who discovered 'Solar System’ ?

Options =

. Galilen

, J- L. Baird
. Copernicus

i Kepler

Omestion Number ¢ 41 Question Td : S4301079224 Question Type = MOOQ Option ShulMing : Yes Display Question Number @ Yes
ﬂm&e E.l::‘l%uestl‘iun Epﬂnﬂ ¢ Mo Option Orientation : Yertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
v Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cmestion Label - Multiple Chotce Queston

Where was the World Wide Web created and in which year ?

Oiptions :

y Gik 11, 1993

5 CLUSIER, 1995

" Photonics 21, 1939

CERN, 1990

Ouestion Number : 42 Quoestion Id : 3431079225 Question Type : MOOQ Option Shaffling : Yes Display Question Nomber : Yes
Single Line Question Option @ Mo Option Orientation ; Vertical Allowed Progression : Yes Namber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Label - Multiple Choice Guestion

Laxmu travels 3 m towards the East, she then takes a left turn and travels 3 m.
She takes another lett and travels 5 m before taking a final left turn. Towards
which direction is Laxmi facing ?

Ohpiions : .
collegedunia:
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Maorth-West

West

South

Cueestion Number @ 43 Question Id @ 3431079226 Question Type @ MOQ) Option Shuffling : Yes Display Question Number @ Yes
Single Line Quoestion Cption © Mo Option Orientation : Yertical Allowed Progression : Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuesnon Labe] @ Multiple Chowce CQuestion

What will be the product of the third digit of the second highest mumber and
the first digit of the lowest number ? The digits are given below

728, 653, 914, 2e9

Options =

1o
1.

10

2.

11

Oeestion Number : 44 Question Td : 543079227 Question Type : MOQ Option ShulMing : Yes Display Question Number @ Yes
RLM'? !.t::‘%mg‘iun Eplinu ¢ Mo Option Orientation @ Vertical Allowed Progression : Yes Number of Beplay : 999 Play On Load -
v Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
CQuestion Label : Multiple Choice Question

How many meaningiul English words can be formed with the letters O, T, E
using each letter once ?

Options :
None
I

One
.
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Oueestion Number @ 45 Quoestion Id : 3431079228 Cuestion Type @ MOQ Option Shoiffling : Yes Display Question Somber @ Yos
Single Line Quoestion Option : Mo Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 Wrong Marks : 1
Zuestion Label - Multiple Choice Question

Four of the following are alike in a certain way and so form a group. Which is
the one that does not belong to that group ?

Options =

Finger ring
1

5 Mecklace
3 Jewellery

4 Bracelet

Cuiestion Number @ 46 Question Id : 3431079229 Question Type : MOOQ Option Sholfling : Yes Display Question Number @ Yes
Single Line Question Option : Mo Option Orientation : YVertical Allowed Progression @ Yes Number of Replay : 999 Play On Load ¢
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cestion Label | Muitiple Chotce Question

Which of the following will come in the place of the question mark (7)
according to the Englizh Alphabetical series ?

BDE, GIJ, ?, QST

Oprions =
MOP

Cuestion Number ; 47 Question Ld 3 3431079230 Question Type : MOQ Option Shuifling : Yes Display Question Samber : Yos
Sing;.l:l:: Line Question Ciption 1 Mo Option Orientation @ Yertical Allswed Propression @ Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

collegedunia:
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Correct Marks : 3 Wrong Marks : 1
iCueshon Label ;| Multiple Chowce Question

The ratio behwveen the number of the boys and the girls in a class is 4 : 3,
respectively. What is the approximate percentage of the girls in the class ?

Oprions =

58
1.

33

Crestion Numiber : 48 Quiestion Id ; 5431079231 Cuestion Type @ MOQ Option ShulTling : Yes Display Question Number ; Yes
'ﬁ:ngf:: Lim%m;lhn gpmm ¢ Mo Option Orientation : Vertical Allowed Progresion : Yes Nomber of Repliy : 999 Phay On Load :
v ol nable : Yes

Correct Marks : 3 Wrong Marks : 1
Caestion Label © Multiple Chowce Question

The standard reduction potential of Cu®* /Cu and Cu®' /Cu' are 0.337 V and
0.153 V, respectively. The standard electrode potential af C ™ /Cu half cell is :

Opiions =

g 0184V

0.327 V
e

SRR
3 0521V

a0\’
" 0.490 %

Ouestion Number : 49 Question Id : 5431079232 CQuestbon Type : MOOQ  Option Shiaffling : Yes Display Question Mumber : Yes
Single Line Question Chption © No Option Orientation @ Yertical Allvwed Progression @ Yes Number of Replay @ 999 Play On Laad -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chotce Question

A proton, a deutron and an a-particle having the zame kinetic energy are
moving in circular trajectories in a constant magnetic field. If r,, r; and r,

denote respectively the radii of the trajectories of these particles, then :
Oipiions =

Fa =Ty <7y
1
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2

T = Tg > 0y
3

F, = Fx = T,

i i i
4.

Ouestion Number ; 300 Quoestion Ld : 3430079233 Question Type @ MOOQ Option Shuffling : Yes Display Question Namber @ Yes
Single Line Question Cplion : No Option Orientation : Vertical Allowed Progression ; Yes Hnmh:ruliephp‘ 3999 Play On Load :
No Controd Enable : Yes

Correct Marks : 3 Wrong Murks ; 1

Cueshon Lake] - Multiple Chowe Question

A closed compartment containing gas is moving with some acceleration in

horizontal direction. Neglecting the effect of gravity, the pressure in the
compartment is :

Oiptions :
, same everywhere

5 lovwer in tront side

5 lovwer in rear side

g lower in upper side

Cuestion Number : 51 Question Td : SA30T9234 Croestion Type : MO Opdion Sholfling @ Yes Display Question Number : Yes
Einﬂ.'l:; l.im%uﬂ.:‘hn Eplhm ¢ Mo Option Orientation @ Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Lo =
v oot ahle : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chaowce Question

Biofuel is obtained from the seed of -

{iptions =
Tammuan

Tacaranda

- Ja trnphﬂ

i Juniper
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Ouestion Number @ 52 Question Ld : 3431079235 Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Which gas in the atmosphere absorbs ultraviolet rays ?

Opiions =
y Dzone

J.‘" LS
5 lethane

Nitrogen

4 Helinm

Cuestion Number : 53 Question Id : 3431079236 Cuestion Type : MOQ Option Shoffting : Yes Display Cuestion Number @ Yes
Single Line Question Option @ No Option Orientation : Vertical Allvwed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Lab«l - Multiple Choice Cuesticn

The first cloned animal 'Dolly’ waz a
Options =
1 Dﬂa

- Rabbit

Cat

Shee
4 P

Ouestion Number @ 54 Question Id : S431079237 Question Type : MOQ Option Shullling : Yes Display Cruestion Momber @ Yes
Single Line Question Option : No Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cestion Label @ Multple Choice Ouestion
Alexander Fleming is associated with the discovery of :

Oiptinns ;
Circulation of blood

Law aof heredity
o 3

gcoi legedunias
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Tubercle bacillius

i Penicillin

Cuestion Number ; 33 Question Ld : 3431079238 Question Type : MOQ Option Shoffling @ Yes Display Question Namber @ Yos
Single Line Question Option : No Option Orientation ; Yertical Allowed Progression ; Yes Namber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
cuestion Label - Multiple Choice Guestion

Permanent hardness of water is due to the prezence af

Oiptions :

y Chlorides of calcium and sodium

Chlorides and carbonates of calcium and magnesium
2

Chlorides and sulphates of calcium and magnesium,

Carbonates of calcium and sodium
4.

Cuestion Number : 56 Quoestion Id : 3430079238 Question Type : MOQ Option Shoffling @ Yes Display Question Mamber @ Yes
Single Line OQuestion Cption @ Mo Option Orientation : Vertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labl - Multiple Choice Ouesticn

HCF and LCM of two numbers are respectively 3 and 1725, How many such

pairs of number are there

Uiptions :

[g*]

Ll |

Oueestion Number : 57 Question Td : S43I07T9240 Cruestion Type : MO Option ShufMing : Yes Display Question Number : Yes
Eimll:; l.lml%uﬂ;‘hn Eplhm ¢ Mo Option Crrientation @ Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Laged =
v oot nable : Yes

Correct Marks : 3 Wrong Marks : 1 .
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Cuestion Label | Multiple Chowce Question

How many megabytes make a gigabyte ?

Oiptions =

1024
1.

Cruestion Number : 38 Qoestion Id : 3431079241 Question Type : MOQ Option Shoffling : Yes Display Cuestion Samber : Yes
Single Line Question Chptism : No Option Orientation ; Yertical Allswed Progression : Yes Nomber of Beplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label @ Multnple Chorte Cuesticn

To be able to ‘boot’, the computer nwst have a(n)

Options =
compiler

loader

5 operating system

assembler
4.

Crestion Number : 59 Question [d : 5430079242 Question Type © MOQ Option Shuffling : Yes Display Cuestion Number :© Yes
Single Line Question Crpdion @ No Option Orientation @ Yertical Allvwed Progression @ Yes Number of Replay @ 999 Play On Load :
Mo Cantrol Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Ciestion Label | Multiple Choice Question

The binary system is a number system to the base :

piions =

2
i
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10

Oueestion Number : 6l Question Dd : 5431079243 Cuestion Type @ MOOQ Option Shaffling : Yes Display Question Number @ Yes
Single Line Question Option : Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label - Multiple Chowce Cuestion

N:5Q0::PRT:?
Oprions =

W
1

2.

YW

VUI

Crpestion Number ¢ 61 Question Td : SA30079244 Question Type : MOQ Option Shallling : Yes Display 'llh.llﬂ-l:llll Number : Yes
E;nﬂ:'l:l: le%ﬂﬂhﬂn E'pllml No Option Orientation : Vertical Allowed Progresion : Yes Muimber of Replay : 999 Play On Loosd :
» Lont mable

Correct Marks : 3 YWrong Marks : 1
iZuestion Label . Multiple Chowe Question

At the end ol a business conterence the ten people prezsent all shake hands with
each other once. How many handshakes will there be altogether ?
Options =

20

2

L
il

90

Ouiestion Number : 62 Question Td : 343079245 Question Type : MOQ Option Shulfling : Yes Display Question Number @ Yes
ﬁlm;'l'_:r :d::l??mt‘nlw" Oyptionn © Mo Oyption Ocientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
o Conl nable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label : Multiple Choitce Question
gco! legedunias

Il ' L st Siusa et v Plalars

-



Today is Varun’s Birthday. One vear trom today he will be bvice as old as he
was 12 years ago. How ald is Varun today ?

Uiplions =

20 years

22 years
2

25 vears

27 vears

ion Number : 63 Quoestion Id : 3431079246 Question Type : MOOQ Option Shuffling : Yes Display Question Namber @ Yes
Hﬂung'i:l:: Line Question Chplion ; Mo Option Orientation : Vertical Allowed Progression : Yes Nomber of Replay : 999 Play On Losd :
w0 Control Enable : Yes

Correct Marks : 3 Wrong Muarks : 1
iZuestion Label : Multiple Choice Caestion

-Etud‘_i; the following five numbers and answer the questions that follovw -
517, 325, 639, 841, 792
What will be the first digit of the second highest number atter the positions of

only the second and the third digits within each number are interchanged ?

Oiptions =
2

=

"

bt |

COuestion Number @ 6d Question Id @ SA30T24T Quextion Type : MOQ Option Shoffling : Yes Display Question Mumber @ Yoy
Single Line Question Option @ No Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Question
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‘Study the following five numbers and answer the questions that follow -
517, 325, 639, 841, 792

What will be the last digit of the third number from top when thev are arranged
in descending order after reversing the positions of the first and third digits
within each number ?

Options :
3

]

e |

Oueestion Number : 65 Question Ld : 543079248 Cuestbon Type @ MOOQ Option Shaffling : Yes Display Question Mumber @ Yes
Single Line Question Option @ No Option Orientation : Vertical Allowedd Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Suestion Label - Multiple Chowce Question

‘Study the following five numbers and answer the questions that follow :
517, 325, 639, 841, 792

What will be the middle digit of the second lowest munber after the positions
of only the first and second digits within each number are interchanged ?

Options =

2

e |

Ouestion Number ; 66 Question Id : 3431079249 CQuestion Type : MOOQ Option Shoffling @ Yes Display Question Namber @ Yes
Single Line Question Option : No Option Orientation : Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :

Mo Control Enable : Yes
gcol legedunias
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Correct Marks 1 3 YWrong Marks : 1
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Bharati is 5 ranks ahead of Divya who ranks bventy sixth in a class of 42. What
iz Bharati’s rank from the last ?

Options =
9th

24th

Cueestion Number : 67 Question Id : 3431079250 Question Type : MO Option Shuffling : Yes Display Question Number @ Yes
Single Line Quoestion Cption @ Mo Option Orientation : Yertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chorte Cuesndn

The number of bovs in a class 15 three times the number of girls. Whach one of
the tollowing numbers cannot represent the total number of children in the
':L'l.:u.: "’

Options =

" 43

40

Ouestion Number : 68 Question Td : S430079251 Question Type @ MO Opdion Shoffling : Yes Display Cuestion Number : Yes
ﬁLﬂg{t! lml%mtl‘lhn Chptinn : Mo Option Orientation : "-’-:rhml Allowesd Progression : Yes Number of Replay : 999 Play On Load :
ot mithle

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chowce Cuestion

A pineapple costz ¥ 7 each. A watermelon costs ¥ 5 each. X spends ¥ 38 on
theze fruits. The number of pineapples purchased is

Options :

gcol legedunias
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i
3

2
+

3.

i Data inadequate

Omestion Number : 69 Question [d : 5430079252 Question Type : MOQ Option Shulfling : Yes Display Question Number @ Yes
ﬂjb@;l: l.l::‘??ml:lhh?phfm Mo Option Orientation § Yertical Allvwed Progresion : Yes Nomber of Reply 2 999 Play On Laoad :
Cont mible : Yes

Correct Maorks : 3 Wrong Marks 3 1
Cuestion Label | Multiple Choice Question

If 100 cats kill 100 mice in 100 days, then 4 cats would kill 4 mice in how many
days ?
Options =
1 day
1. }

. 4 davs
2 .
- 40 day=

i 100 days

Cestion Number : T Question Id @ S4300T9258 Question Type : MOOQ  Option Shoffling : Yes Display Question Mumber : Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Mumber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

Cuestion Label - Multiple Chotce Question

Find the next number in the sequence :
Oiptions =

110
' [

170
2.

gcoi legedunias
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Cuestion Numler : 71 Question Id : 3431079254 Cuestion Type : MOQ Option Shoffling : Yes Display Question Mamber @ Yes
Single Line Question Cption @ Mo Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 99% Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuesnon Late] - Multiple Chowe OQuestion

ROP, ONM, _, IHG, FED, find the nussing letters

(iptions =

" CDE

5 LKI

LK

BAC

Ohpestion Number £ 72 Question Td : 340079255 Question Type : MOOQ Optien ShulTing : Yes Display Question Number © Yes
ﬂngllznr I.lm%mstl‘inn Epﬂm : Mo Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load -
o Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cestion Label : Multiple Chotce Queston

PETAL : FLOWER
Oiptions =

; Pen - Paper

5 Engine : Car
Cat:Do
= : 8

Ball : Game

Cuestion Numler @ 73 Question Id : S431079256  CQuestion Type : MOQ Option Shoffling : Yes Display Question Namber @ Yes
Single Line Question Cption @ Mo Option Orientation : YVertical Allowed Progression : Yes NMumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label - Multiple Choice Question

It was Sunday on Jan. 1, 2006. What was the day of the week Jan. 1, 20107

gcoi legedunias
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o Saturday
5 Friday

Wednesday
i \

Chuestion Number ; 74 Question Ld 3 3431079257 Question Type : MOQ Option Shalfling : Yes Display Question Sumber : Yes
!ra;inﬂr Line {%ur-lsﬂun li:.'ptlm : Mo Dwption Orientation : Yertical Allvwed Progresion : Yes Nomber of Beplay : 999 Play On Losd :
o Controd Enable : Yes

Correct Morks : 3 Wrong Marks ;1
Cuestion Label - Multiple Chowce Cuestion

Looking at the portrait of a man, Kamal said, "His mother is the wife of my
father's son and I have no brother and sister” At whose portrait was Kamal
looking 7

Options :
His nephew
1;

His =om
2

Hi= cousin
&

? None of the three

Ouestion Number : 75 Question Id : 3431079258 Question Type : MOQ  Optlon Shuffling : Yes Display Cruesthon Mumber @ Yes
Single Line Quesiion Option @ No Option Orientation : Yertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correet Marks : 3 Wrong Marks: 1
Ciestion Label | Multiple Choice Question

Select three figures out of the following five figures which when fitted into each
other would form a square :

7 4 o Ol

Oipfions :

gcol legedunias
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Cruestion Number : 76 Question Td : S43079259 Question Type : MOOQ Option Sholfting : Yes Display Question Nomber @ Yes
Single Line Question Cption : Mo Option Orientation ; YVertical Allowed Progresion : Yes Nomber of Replay : 999 Play On Logd :
No Control Enable : Yes

Correct Marks : 3 Wrong Muarks : 1

Cuestion Labal - Multiple Chowce Caestion
Below are some words tranzlated from an artificial language.

migenlasan myeans cupboard
lnsanpoen means boardwalk
cuopdmrsa means Pullman

Which word could mean “walkway” ?
Oiptions :
4 FPoennugen

Cuopeizel
&

Lasandansa

Poentore
4

Ouestion Number : 77 Question Id : S43107T9260 Cuestion Type : MOQ Option Shuffling : Yes Display Cuestion Number @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allvwed Progression : Yes Mumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cestion Label : Multiple Choice Juestion

Find the minimunm number of straight lines required to make the given figure ?

Ohptions :
I

gco! legedunias
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Quiestion Number : 78 Question Id : 34301070261 CQuestbon Type : MOQ Option Shuffling : Yes Display Cruesthon Mumber @ Yes
Single Line Question Cpiion @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select a suitable figure from the four alternatives that vwould complete the

figuire matrix
DI
R @ i
~ @ 2

(1) 2) (3) (&)
Options ;

Oueestion Number : 79 Question Td : 3430079262 Question Type : MOQ Optien Shalfling : Yes Display OQuestion Somber @ Yes
iib-gl: Lr:;l??mllﬂwn Qphnn ¢ Mo Option Orientation @ Vertical Allowed Progresion : Yes Nomber of Reply 2 999 Play On Lo :
o Lol makle

Correct Marks 1 3 Wrong Morks ;1
Cuestion Label | Multiple Choice Cuestion

If 35+ V125 = 17.88, then what will be the value of V30 + 675 ?

Options =
13.41

gcoi legedunias
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Cruestion Number ; 30 Question Id 1 3431079263 Question Type : MCQ Option Shoffling : Yes Display Question Samber @ Yes
Single Line Question Option ;: No Option Orientation ; Yertical Allowed Progression ; Yes Noamber of Replay : 999 Play On Load :

Mo Control Enable : Yes
Correct Marks : 3 YWrong Marks : 1

Cuestion Label - Multiple Chaice Question

Which number will replace the question mark in the following ?

17 11 19
12 13 16
25 4 ?
Optinons :
3o
L
)
s
25
&
ixd
4.
Section B Physics
SHection Id : 543107135
Section Mumber : 2
Section fype : Cimline
Mandatory or Optional: Ciptional
MNumber of Quoestions: 40
Number of (fonestions o be attempted: 40
Spction Marks: 120
Irisplay Number Panel: Yes
Group All Questions: Mo
Snb-Section Mumber: 1
Sub-Section Id: 43107175

~

-
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Duestion Shullling Allowed = Yes

Ciestion Number : 81 Question Id : 54301079264 Question Type : MOQ Option Shnffting : Yes Display Cuesthon MNumber @ Yes
Single Line Question Option @ No Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label : Multiple Choice Ouestion

A 520 m long (measured when the spacezhip is stationary) spaceship passes by
the Earth What length would an observer will obzerve on Earth when it passed
the Earth with speed 0.30 c relative to the obzerver ?

Oprions =
312 m

123 m

ha

J3dm

456 m

Cuestion Number ; 32 Question Id : 3431079265 Question Type : MOCOQ Option Sholfling : Yes Display Question Number : Yes
Single Line Qoestion Chplion : Mo Option Orientation : Vertical Allowed Progression : Yes Momber of Replay @ 999 Play On Logd :
Mo Controd Enable : Yes

Correct Marks : 8 Wrong Marks ; 1
Cuestion Label - Multiple Choice Question

How much energy is contained i a particle that has a mass = lug ?

Oipiions -

, 69x 107 Toules

9x 10° Joules
g

g 27X 10° Joules

i 34 % 10* Toules

Omiestion Number : 33 Question Ld 3 3430079266 CGuestion Type © MOQ Option Shulfling : Yes Display Question Namber : Yes
ﬁinﬂ(:: Li::nl%ml:lhn gpl.i.un Mo Option Drientation : Vertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Load :
v Controd Enable : Ve

Correst Morks : 3 Wrong Marks ; 1
Cestion Label : Multiple Choice Question
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Two wires A and B are of the same material Their lengths are in the ratioof 1 :
2 and the diameters are in the ratio of 2 : 1. If they are pulled by the zame force,
then the increasze i length ratio wall be :

Opiions :
1:8
1.

Cuestion Number @ 84 Question Id : S43107T9267 CQuestion Type : MOGQ Option Shuffling : Yes Display Cruestion Number @ Yes
Single Line OQuestion Option @ Mo Option Orientation : Vertical Allpwed Progression @ Yes Momber of Replay 1 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Crestion Label @ Multiple Choice Cuestion

The rain drops are spherical in shape due to

Oiptions -
Surtace tenzion

5 Viscosity

5 Difhusiom

=
i Prezzure

COuestion Number : 85 Question Id : 543079268 Question Type : MOOQ Optien Shaffling : Yes Display Questhon Number @ Yes
Single Line Question Cption @ Mo Option Orientation : YVertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

Cuestion Label : Multiple Chotce Question

Calculate the Young's modulus in the cantilever depression method. The length
iz 1 m which is suspended with a load of 150 gm. The depression i= found to be
4 con. The thickness of the bean is 5 mm and breadth i= 3 cm

Options :
, 245% 10° N/ m?

5 9dx 1080 N/ m?

gcol legedunias
Il ' L st Siusa et v Plalars

-



3 45 101° N/ m?

o 124x 103° N/ m?

Quiestion Number : 86 Question Id : 3431079269 (Question Type : MOQ Optlon Shuffling : Yes Display Questlon Number : Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label ; Multiple Chawce Question

The mean distance of Earth from the Sun is 1496 x 10° km and the mean
distance of Mercury from the Sun is 579 x 10°km. The period of Earth's
revolution is 1 year, what is the period of Mercury's revalution ?

Ciplinns :

i 0.32 vears

0.24 years
2,
1.2 years

1.5 vears

Ouestion Number : 37 Question Id : 3431079270 Question Type : MOQ Option Shoffling : Yes Display Question Sumber : Yos
Single Line Question \[’Jph.m : Mo Option Orientation ;: Yertical Allowed Progression : Yes Namber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Labs] - Mulaple Choice Juestion

In an oscillatory circuit L = 0.5 H, € = 1.5 pF. What is the maximum value of
rezistance to be connected so that the circuit may produce oscillations ?

(ipiions =
1034 olim
I.

1054 ahm

1086 ohm
3

1094 ohm
4.

Oueestion Nomber : 3% Question Ld : 3430079271 Question Type : MOQ Optien Shalfling : Yes Display OQuestion Suomber @ Yes
i‘_ijngl: l.i:;l??m_‘:lhn Epﬁm ¢ Mo Option Orientation @ Vertical Allowed Progresion : Yes Nomber of Reply 2 999 Play On Lo :
Control Enable ; Yes

Correct Marks : 3 Wroong Marks : 1
gcollegedunias
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Cuestion Label | Multiple Choce Question
Quality tactor is directly proportional to

Options =
1 Time Period

» Frequency
3 Capacitance

4 Inductance

Oueestion Number : 89 Question Td : 5431079272 Question Type : MO Opdion Shuffling : Yes Display Question Number : Yes
ﬁi]ngll;t !.lml;l:mgliuu gplhm ¢ Mo Option Creientation @ Vertical Allowed Progression : Yes Number of Replay : 999 Play On L :
vy Cont nahle : Yes

Correct Marks : 3 Wrong Marks : 1
Cestion Label © Multiple Chowce Question

Viscosity of a gas is due to the transport of :

Oiplions :
i Momentuim

> [Energy

3 Mazs

4 Temperature

Ouiestion Number : 90 Question Td 2 SA310TRITY Cruestion Type : MOOQ  Opticn Slrul'ﬂlnm Yes DHsplay Chiestion Number : Yes
ﬁinu'l:l.:i lm%u%iﬂn%pﬂm ¢ M Dhption Orientation : ‘lr’erth:nl Allowed Progresion : Yes Momber of Replay 1 999 Play On Lioad :
o Cont nable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuiestion Label | Multiple Choice Question

RMS speed of an ideal gas molecule is inversely proportional to the square root
ot its -

Options =

; Temperature
Mhass

3 Volume

4 Mone of the three

gcol legedunias
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Ouestion Number : 91 Question Ld : S4300T9274 Question Type : MOGQ Optlon Shuffling : Yes Display Cruestbon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

What is the wavelength at which human body radiates maximum energy ?

Options =
" 935x 10 ° m

» 5.57% 107 m
5 715% 10 m

4 365 107 m

Ouestion Number : 92 Question Id : 5431079275 Questbon Type : MOOQ Optlon Shaffling : Yes Display Question Mumber : Yes
Single Line Question Cption © No Option Orientation @ Yertical Allvwed Progression @ Yes Number of Replay @ 999 Play On Load -
Mo Controd Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Choice Question

The number of modes in a chamber of valume 50 cc in the frequency range
4x 10" and 401 x 10" Hz is

Oiptions :
7.5x% 10
I

3.6 lﬂ“
2.

19 % 10°
3

35x 10%
4,

Oueestion Number @ 83 Quoestion Id : 3431079276 Cuestion Type @ MOQ Option Shoiffling @ Yes Display Question Somber @ Yoes
Single Line Question Option ;: Mo Option Orientation : Yertical Allowed Progression ; Yes Number of Beplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Zuestion Label - Multiple Choice Question

The radiant emittance of a black body at a temperature of 400 K(o = 5.672 x
107 MKS units) is :

Options ;

, 1234 Watts/m*

gcoi legedunias
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. 1452 Watts/ m~

5 1344 Watts/ m°

1098 Watts/ m*

Question Number : 94 Question Id : S4310T92TT Cuestion Type : MOQ Option Shuffling : Yes Display Cuestion Mumber : Yes
Single Line Quoestion Cplion @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : %99 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labe] @ Multiple Chowce Cuestion

Net entropy change of a system in Camot's cycle is

Opfinns -

Zern
1.

Positive
2

MNegative
- B

More than 1

Ouestion Number : 95 Question 1d : 3431079278 Question Type : M) Option Shuffling : Yes Display Question Samber : Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression : Yes NMomber of Replay : 99% Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks @ |1
Cuesnon Late] - Multiple Chowte Question

The electron charge was measured for the first time in the :

Options =
Cathode ray experiment

2 Photoelectric effect experiment

3 Qil drop experiment

4. Electron diffraction from aluminium foil

Oneestion Number : 9% Question Td : 543079279 Questbon Type : MOOQ Option Shaffling : Yes Display Question Number : Yes
Single Line Question Cpiion ¢ Mo Option Orientation @ Yertlbcal Allowed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : i

Cuestion Label - Multiple Chaowce Question .
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Which of the following are emitted by the nucleus during radioactive decay ?

Ciplions =

Alpha particles
1.

Beta particles
.

Gammia ravs

) All of the three

Cestion Number : 97 Question Id @ 3431079280 Question Type : MOQ Option Shoffling : Yes Display Question Momber @ Yes
Single Line Quoestion Cption @ XNo Option Orientation : Yertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label - Multiple Chorce Cuesndn

The temperature of inversion (I, ) of a gasis:

Uipliions :
1 a/Rb

2a/Rb
5a/27Rb

27Rb/3A

Cruestion Number ; 98 Question Id : 3431079281 Cuestion Type : MOQ Option Shoffling : Yes Display Question Namber : Yes
Single Line OQuestion Cptisn : No Option Orientation : Yertical Allswed Progression : Yes Nomber of Beplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 YWrong Marks : 1
Cuestion Label @ Multnple Chorte Cuestion

'Good abzorbers are good emitters’ — The statement is known as :
{ipiions =

i Prevost's lavwr

5 Kirchhoff's law

Stefan’s laws

3
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Wien's laww

Ouestion Number : 99 Question Id @ S431079282 Question Type : MOGQ Opdlon Shoffling @ Yes DMsplay Question Mumber @ Yes
Single Line Question Cpilon @ Mo Option Orientatlon : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label © Multiple Choice Guestion

According to special theory of relativity which one 15 an absolute quantity ?

Oiptions :
Time

Mags
2.

- Length

4 Mone af the three

Numher ; 100 CQuestion Fd ; 3431079283 Duestion Type : MOGQ Opticn Shallling @ Yes Display Question Namber @ Yoes
Single Line Question Option ; Mo Option Crientation ; Vertical Allswed Progression : Yes Nomber of Beplay ; 999 Play On Losd :
Moo Control Enable : Yes
Correct Marks : 3 YWrong Marks: 1

Crestion Label @ Multiple Choice Cuestion

An obszerver watches water waves paszng a stabonary boat cauzing it to move
up and dowwn. The time for one complete cycle of this motion is 10s and the
distance from top to bottom is 2 m. If the wavelength of the waves is 5 m, their
velocity is:

Options =
20 m/sec

0.5 m/sec

h2

0.2 m/=ec

5 m,/ sec

Ouiestion Number : 100 Question Id : 3430079284 Cuestion Type < MOOQ Option Shaffling : Yes Displa i}umim Mumber ¢ Yeu
Elm,t- !.i:lt:l%m;lwn E’p‘llﬂ’l No Option Drientation : Vertical Allowed Progression : Yes Number of Replay @ 999 Play On Lo :
v Conl nuhle

Correct Marks : 3 Wroog Marks ; 1
Cestion Label : Multiple Chotce Question
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What force is required to stretch a steel wire having 0.5 e~ cross section to
double itz length ? Young modulus (Y) =2 x 101N/ m”

Oiptions :

2% 10*N
1,

10° N

34 10°N
3

) 57x% 10°N

Cueestion Number @ 102 Quoestion Id : 5431079285 Question Type : MCO Option Shoiflling @ Yes Display Question Number @ Yoes
Single Line Quoestion Cption @ Xo Option Orientation : Yertical Allowed Progression @ Yes MNomber of Replay 1 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chorte Cuesndn

The volume of a solid does net vary with pressure. The value of Poisson's ratio

for the solid is -

Oiplings :

Quiestion Number : 103 Question Ld : 5431079286 CQuestion Type : MOOQ Option Shuffling : Yes Display Cuestlon Momber : Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label ; Multiple Chowe Question

The velocity of efflux is :
Oiptions =

, v2gh
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|r31
2.’“51

3  7gh

4

Cruestion Number : 104 Question Id : 3431079287 Question Type @ MOOQ Optisn Shuffling @ Yes Display Question Nomber @ Yis
Single Line Question Option ; No Option Orientation ; Yertical Allowed Progression ; Yes Nomber of Replay : 999 Play On Load :
Mo Controd Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label - Multiple Choice Question

Calculate the numerical aperture of an optical fiber whose core and cladding

are made of materials of refractive indices 1.6 and 1.5, respectively :

Options =
i 0.55677

3577

02455

4 0.647352

Cuestion Number : 105 Quoestion Ld : S43T072288 Questbon Type = MOQ Option Shuffling : Yes Display Question Namber @ Yes
Single Line Question Crption © No Option Orientation @ Yertical Allowed Progresion @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label : Multiple Chowce Question

1o

Dimension of

vHoEp
Oiptions :
MOLT!
1

MLT
MPrAr
MLT 2
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Cuestion Number @ 106 Quoestion LId : S431079289 Cuesthon Type = MOQ Option Shoffling @ Yes Display Question Nomber : Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes MNomber of Heplay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Caestion Label | Multiple Choice Question

The divergence of which quantity will be zero ?

Opiions =
E

Question Number : 107 Question 1d : S431079290 Cuestion Type = MOQ Opthon Shuffling @ Yes Display Question Mumber @ Yes
Single Line Question Cplion @ Mo Option Orientation : Vertical Allvwed Progression : Yes Momber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labe] @ Multiple Chowce Cuestion

Find the electric lux density of a material with charge density 16 units in unit

volume -

Oiptions ;
1/16

160
2

16
3

162

Question Number ¢ 108 Quoestlon Ld : 5431079291 Guestion Type = MOOQ  Opthon Shuffling : Yes Display Question Namber : Yes
Single Line Question Chption : No Opthon Orlentation : Verthieal Allowed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Controd Enable : Yes

Correct Marks : 3 Wrong Marks ¢ 1
Cuestion Label | Multiple Choice Question

A lamp is placed 050 m from a comverging lens. The power of the lens is
+3.0D. What is the distance from the lens to the focused image ?
Oipiions =

043 m
!
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0.56 m1

033m

014 m

Cuestion Number @ 108 Question Td : 3431079292 Question Type : MOOQ Option Shuffling @ Yes Display Question Mumber : Yes
Single Line CQuoestion Option | Mo Option Orientation : Vertical Allowed Progression : Yes Momber of Replay : %99 Play On Load :
No Control Enable : Yes

Correct Marks 1 3 YWrong Marks : 1
Zuestion Label - Multiple Choice Question

If my is the atomic mass of Hydrogen, m,, is the mass of a neutron, and M is
the atomic mass of the atom, which of the following is the mass defect formula ?

Options =
l_.-jm=2mH +Nm, -M

5 Am=Zmyg +Nm, +M

5 Am=Zmy -Nm, - M

Am=Zmy -Nm, +M

Ouestion Number @ 110 Question Ld : 3431079293 Cuesthon Type @ MOQ Option Shuffling : Yes Display Question Nomber : Yes
Single Line Quesiion Cpiion @ Mo Option Crientation : Yertical Allvwed Progression @ Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

A 100 g sample of a radioactive element has a half lite of 5 days. How many
grams of radioactive material will remain after 15 days ?

Options =

100 g
1

gcol legedunias
Il ' L st Siusa et v Plalars

-



Cuestion Number @ 111 Quoestion Ld : S4310792% Cuestion Type = MO Option Shoffling @ Yes Display Question MNomber @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Caestion Label | Multiple Choice Question

Short-zight defect could be carrected by a

Oiplions :
i Convex lens

Concave lens

. Plano-comvex

None of the three

Ouestion Number @ 112 Ouestion Id : 431079295 Cuestion Type : MICQ Option Shoftling @ Yes Display Question Nomber : Yes
Single Line CQmestion Option : Mo Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label - Multiple Choice Question

In a full wave rectilier circuit operating rom 50 Hz mains frequency, the
fundamental frequency in the ripple would be .

Oipfions =
100 Hz

S0 H=z

Cruestion Number ; 113 Question Id : 343107929 Question Type : MOOQ Option ShufMing : Yes Display Question Number ; Yes
Einglr Line %uw.:l'lii.ln $ph'un Mo ODption Orientation : Yertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Lood :
v Control Enable : Yes

Correct Marks : 3 Wrong Marks ;1
Cuestion Label - Multiple Choice Cuesticn

If the distance between plates of a parallel plate capacitor is doubled and area is
halved, the capacitance becomes

Options :

: one-tourth
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four Hmes

halt
3

douable
4,

Cruestion Number : 114 Question Id : 3431079297 Question Type : MOOQ Optisn Shuffling @ Yes Display Question Nomber @ Yis
Single Line Question Option ; No Option Orientation ;: Yertical Allowed Progression ; Yes Nomber of Replay : 999 Play On Load :
Mo Controd Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label ;- Multiple Choice Cuestion

An observer on Earth sees an alien spaceship approaching at 060 c. The
Enterprise comes to the rescue overtaking the spaceship at 0.90 ¢ relative to the
alien spaceship. How fast would the observers on earth measure the Enterprize
to be travelling at ?

Options :

08533 ¢
I,

D974 c
P

0.342 ¢
3.

03¢
4.

Ouiestion Number : 115 Question Ld : S430079298 Question Type : MOOQ Option Shulfling : Yes Display Question Number : Yes
ﬁingllze !-im%u&s':lhn $m1 : Mo Option Orientation : Vertical Allowed Progresdon : YVes Number of Replay : 999 Play On Load -
v Cont nable : Yes

Correct Marks : 3 Wroong Marks ¢ 1
Cuestion Label ; Multiple Choice Question

The modulus of rigidity and Poisson's ratio of the wire are 2.37 10" N/ m?
and 0.379, respectively. What is the value of Young's modulus of the material of
the wire ?

Options ;

1.08773 % 109N/ m?
1.

" 7915 x 1080 N/ m?

gcol legedunias
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’ 75725 % 1000 N/ m2

, 01403 % 109N/ m?

Ouestion Number @ 116 Question Id : 3431079299 Question Type : MOQ Option Shafiling @ Yes Display Question Number @ Yes
Single Line OQmestion Crption @ Mo Option Orientation : Vertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks @ 1
Question Label - Multiple Choice Question

Gibbs potential is defined as

Options =
G=U-PV+TS

, G=U+PV-T5
s G=U—-T8

 G=U+PV+TS

Ouiestion Number ¢ 117 Cuoestion Ld @ SA31079300 Cuestion Type : MOQ Option Shuffling : Yes Display Cuestion Momber @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression : Yes NMumber of Replay : 999 Play On Load :
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Chowe Question

According to the classical theory, the average energy of an oscillator is

Options =
£
~KsT

1 =
KgT

KT

3 £

None of the three
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Ouestion Number @ 118 Question Ld : 3431079300 Cuestion Type = MO Option Shoffling @ Yes Display Question Nomber : Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label | Multiple Choice Question

Heizenberg's Uncertainty Principle states

Opiions =
The more precies a particle’s energy can be measured, the less precize its

. position can be measured

s A particle’s position can be measured exactly

The more precies a particle’s momentum can be measured, the less precise

itz position can be meazured
3

The more precies a particle's momentum can be measured, the less precize

its energy’ can be measured
4

Cuiestion Number @ 119 Quoestion Ld : S430079302 Cuestion Type = MO Option Shoffling @ Yes Display Question Nomber : Yes
Single Line Question Option @ Mo Option Orientation @ Yertleal Allowed Progression : Yes Momber of Replay 1 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cruestion Label - Multiple Choice Question

When an electrom falls brom an orbitwhere n =2 tan =1
Oiptinns :

, 4 photon is emitted

5 A photon 1= absorbed

- Nochange in atomic energy

i The atomic energy decreases o zero

Oueestion Number @ 120 Question T 2 S430079303 OQuestion Type : MOQ Option ShulTling @ Yes Display Cheestion Number @ Yes
ﬁin;;t i.lm??ua%hn $WM| + No Option Orientation : Yertical Allowed Progression @ Yes Noimber of Replay : 999 Play On Load :
o Cont nable : Yes

Correct Marks : 3 Wrong Marks 1 1
Cuestion Label | Multiple Choice Cuestion

How does the energy of a photon change if the wavelength is doubled ?

Ohptios :
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Doubles

2

One-half
3

One-fourth

4,

Section Id :

Section Mumber :
Section type :

Quadruples

Mandatory or Opibonal:
Number of (Juestions:

Number of Qnestions io be attempied:
Secthon Marks:

DHsplay Mumber Panel:
Group Al Questions:

Sub-Section Number:

Sub-Section 1d:

Duestion Shuflling Allowed :

Sechon B Chemstry

543107130
3

Cialine
Ciptinal
40

40

120

Yes

M

1
543107170
Wi

Ouiestion Number @ 121 Question Ld : 5431070304 Cuestion Type : MO Option Shoffling @ Yes Display Question Nomber : Yes
Single Line Question Cption @ Mo Option Crientation @ Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :

o Control Enable @ Yes

Correct Marks : 3 Wrong Marks : 1

Cmestion Label - Muitiple Chotce Question

g i TS :
The magnetic moment of Ly~ in ifs complexes is

Oipiions -

1.72 BM
1.

~

-

collegedunia:
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Ouestion Number @ 122 Quoestion Ld : S431079305 Cuestion Type = MO Option Shoffling @ Yes Display Question Nomber @ Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label | Multiple Choice Question

Which one of the tollowing ions has same number of electrons in its ' orbitals

as Eiw”" has?

Options =
Anr?

Oueestion Number @ 123 Question Id : 431079306 Cuestion Type : MO Option Shoffling @ Yes Display Question Mumber : Yes
Single Line Quoestion Cption @ Mo Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Labl © Mudtple Choce Ouesnon

Which of the following statemients is frue ?

Options =

LiFy shows hyperfine structure and NdF; does not show
1

NdF; showws hyperfine structure and LiF; does not show
2,

NidF; and LiF both show hyperfine structure
3

NdF; and LiF; both do not show hyperfine structure

Ouestion Number ; 124 Question Id : 3431079307 Ouestion Type : MOQ Option Shoffling : Yes Display Question Nomber : Yes
ﬂ]nglczl.im: l'.%ul:.sl'run ?ptiun Mo Owption Orientation : Yertical Allvwed Progresion : Yes Nomber of Beplay ; 999 Play On Logd ;
1 ntrol Ennble : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Lab2] © Mudnple Choce Ouesnon

Which one is the most reactive interhalogen ?

Oipliogs : .
collegedunia:
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Cuestion Number @ 125 Question Id : 3431079308 Cuestion Type : MOCOQ Option Shoffling @ Yes Display Question Number @ Yes
Single Line Question Option @ o Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuesnon Late] - Multiple Chowe Question

Spin-crossover phenomenon does not depend on

Options :

Nature of metal ion
1

Curie Weiss laoww
2

Temperature
3,

Crystal field splitting
4

COueestion Number @ 126 Question Ld : S43107930% Cuesthon Type = MO Option Shoffling @ Yes Display Question MNamber @ Yes
Single Line Question Option ¢ Mo Option Orientation : Vertical Allowed Progression @ Yes Muomber of Heplay @ 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which one of the tollowing is the strongest oxvacid ?

Oiptions =

HCID,
I, -

HCO

P
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HCIO,
3.

HCIO
i 4

COuestion Number @ 127 Question Id : S431079300 Cuestion Type : MO Option Shoffling @ Yes Display Cuestion MNumber @ Yes
Single Line OQnestion Option : Mo Option Orientation : YVertical Allvwed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labe] @ Multiple Chowce Cuestion

The minst stable dihalide i= ¢
Oiplions :
SiXs

GeXs
2.

PbX,

SnXy
4

Ouiestion Number @ 128 Quoestion d : 5431079311 Question Type : MOOQ Opthon Shoffikag @ Yes Display OQuestion Number : Yes
Single Line Question Opilon @ Mo Option Orientation @ Yertical Allowed Progression @ Yes Number of Replay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cmestion Label - Muitiple Cholce CQuestion
Which one of the following 1= used in the production of rubber ?
Options :
Zndl

Omeestion Number : 129 Question Td : 5430079302 Question Type : MOQ Option Shuflling : Yes Display Question Number ; Yes
Single Line Question Oplion @ No Option Orientation : Vertical Allowed Progression @ Yes Nomber of Beplay @ 999 Phay On Load :

Moo Control Enable : Yes
gmilegedu nias

Il ' L st Siusa et v Plalars

-



Correct Marks : 3 Wrong Marks : 1
iCueshon Label ;| Multiple Chowce Question

What is the spin state of iron in oxvhaemoglobin ?
Oiptions =

high spin state
1.

low spin state
2

equilibrinm between high spin and low spin
2

high spin and low spin both
.

Cuestion Number : 130 Qoestion Id : 3430079313 Cuestion Type < MOOQ Option Shalfling : Yes Display Cuestion Number : Yes
ﬂﬁl:t !-qu:ltll?ue.s;lhn Epﬂm Mo Option Orientation : Vertical Allewed Progresdon : Yes Number of Replay : 999 Play On Laad :
oo Controd Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Choice Question

Which of the following shows £ - in tvpe of Jahn-Teller distortion ?
(piions =
Ti(H0%
1.

Ee(H,0)5

Ouestion Number @ 131 Question Id : S431079304 Question Type : MOCG Option Shollling @ Yes Display Question Namber @ Yes
Hr::qu Line Question Oplion ; No Option Orientation : Vertical Allowed Progression ; Yes Number of Replay : 999 Play On Losd :
3 ontrol Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cpestion Label @ Multiple Choice Cuestion

Symmetry number (6) for CH molecule is

Oiptinmns :
4
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Ouiestion Number : 132 Question Id : 3431079315 Question Type < MOOQ Option Shulfling © Yes Display Question Number © Yes
ﬁlmﬂ&!.i::l%m':‘hn ?pﬁm £ No Option Orientation : Yertical Allowed Progresion : Yes Nuimber of Replay : 999 Play On Load -
v ol ble : Yes

Correct Morks : 3 Wrong Marlks ¢ 1
Cmestion Label © Multiple Chotce Juestion

A solution of AgNO; was electrolysed between silver electrodes. The speed

ratio of zilver and nitrate jons was found to be 0.9. The transport numbers of
the silver and nitrate ions are :

Oiptions ;
. 0453 and 0.547

0474 and 0.526
2

" 0.326 and 0.174

4 0.264 and 0.736

Omestion Number : 133 Question [d : 3430079306 Question Tyre $ MIOO Option ShafTling © Yes Display Quiestion Number @ Yes
%‘.ﬁ':‘ E.I::‘l%m;‘iun Eplinn ¢ Mo Option Orientation @ Vertical Allowed Progression : Yes Number of Beplay : 999 Play On Load -
antrol Enable : Yes

Correct Marks : 3 Wrong Marks ¢ 1
Cuestion Label - Multiple Chotce Question

The amount (mole) of ester will be formed swhen 0.5 mole of ethyl alechal 1=
mixed with 1.0 mole of acetic acid is (Given K- =4 at 25°C) :

Opilons :
0311

0.423

gcol legedunias
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0577
0.757

Orestion Number : 134 Question [d : 5431079317 Question Type : MOOQ  Option Shuffling © Yes Display Cuestion Number @ Yes
Single Line Question Cption @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 Wrong Marks : 1
Guestion Label : Multiple Chotce Cuestion

The pure rotahional spectrum of 11!:“1“{ maolecule in gaseous phase shows

1

series of equally spaced lines with interspacing 3.5 cmv . The intermuclear

distance (pm) of CN mplecule is ;

Opiions -

Cueestion Number @ 135 Question Id : 5431079318 Question Type : MCO Option Shuifling @ Yes Display Question Number @ Yoes
Single Line Quoestion Cption © Mo Option Orientation : Yertical Allowed Progression : Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuesnon Label @ Multiple Choice Cuestion

The moment of inertia (kg m”) of H,O molecule around the axis defined by
the bisector of HOH angle is (Given : HOH angle = 104 5%, the O-H bond length
=957 pm, sin~ 52.25° = 0.625)

Opiions =
111% 167%

141 % 107%

191x 10%
2
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141 % 10°%

Ouestion Number @ 136 Quoestion Id : S431079319 Cuesthon Type = MO Opthon Shulfling @ Yes Display Question Nomber @ Yes
Single Line Question Cpiion : Mo Option Orientation : Vertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Labkel © Multiple Choice Cuesticon

Change in entropy (AS) when 5 moles of an ideal gas are heated from a
temperature of 500 k to a temperature of 1000 k at constant pressure. Assume
that Cp =5/2R

Oiptions :
216R

S66R

1732 R

Ouiestion Number : 137 Question Id : S431079320 Duﬂhu'n-r:: MCQ Option Shulfling : Yes Display Chiestion Number : Yes
ﬁingllf !.lm%ue.s':lhn $m| : Mo Option Orientation ; Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load -
v Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cestion Label : Multiple Chotce Question

The required concentration of O, in water to support aguatic life is about
4 mg/L. So, the required minimum partial pressure (Torr) of oxygen in the
atmosphere to achieve thiz concentration is (Given Henry's law constant for
oxygen in water at 25°C is 3.J x 10° Torr):

Uptions :

74725
1,

50.14
2

49 36
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J0.14

Oueestion Number : 138 Question Id : S430079321 Question Type : MOQ Option Shulfling : Yes Display Question Number : Yes
ﬁin@{: Lim%ﬂ:&ﬂnm?ﬂiml : Mo Option Orientation : Yertical Allowed Progresion : Yes Nomber of fay : 999 Play On Load :
v Cond mithle : Yes

Correct Marks : 3 Wrong Marks : 1
Cestion Label : Multiple Choice Juestion

A cell consists of glass electrode coupled with 1.0 M KCl calomel electrode
Pt(z), 1.0 N HCl|Glass | solution(pH = unknown)|| 1.0 M calomel electrade.
Determine the pH of the solutiom. Given : cell potential E 5= 0375V, standard
glass electrode potential, E°: =043V, Eqrp (1LOMEC]) =023V at 293 K-

Oiplions =

4.1
1.

1
L&) |

bbb

~1
=1

Cuestion Number @ 139 Quoestion Id : S430079322 Cuestion Type = MO Optien Shoffling @ Yes Display Question Number : Yes
Single Line Question Optlon @ No Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Guestion Label : Multiple Chotce Queston

The values of dyyg and dyy; in lead having fee structure witha =4 95A are -

Oipiions =
1 2475 and 5.70 A

, 495and 570 A

2475and 2585 A (chloroacetic)
4

Question Number : 140 Question 1d ; 431079323 Question Type : MOQ Option Sholfling : Yes Display Question Namber : Yes
Single Line OQuestion Option ; Mo Option Crientation ; Yertical Allvwed Progresdon ; Yes Nomber of Replay @ 999 Play On Lo :

Mo Control Enable @ Yes
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Correct Marks : 3 Wrong Marks : 1
Cuestion Label | Multiple Choice Question

In a photochemical reaction, after irradiating the aqueous solution of chloro-
acetic acid at 253.7 nm for 5337 mins, 34.36 | of energy was adsorbed and 2.296 x
10~ mol of HCl were formed. The quantum yield of the reaction is :

Oiptions =
0315

Crestion Number : 141 Question Td : 3430079324 Question Type : MOOQ Option Shalfling : Yes Display Question Somber © Yes
ﬂungll:;: L'mr:l(%mtl*iun gph'un ¢ Mo Option Orientation : Verticul Allvwed Progression : Yes Nomber of I{rpiur 1999 Play On Lo :
ont nible : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chotce Question

In the following given reaction,

Me Me
cH e
2 3'““}!/!, Br CRe L HO 'I”"'”-.EHS
e C3H;
If the concentration of both the reagents is doubled, then the rate of the
reachon
Cipiions =
; remains unchanged
getz quadrupled

. gets reduced to one fourth

gets doubled
4.
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Ouestion Number @ 142 Question Ld : 3431079325 Cuestion Type = MOQ Option Shoffling @ Yes Display Question Nomber @ Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :

Mo Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1

Cuestion Label | Multiple Choice Cuestion

The major product obtained in the following given Beckmann rearrangement

15
CH,y
H | .\-'/
F|'|l p
”-"IPL
CH,y
Oipiions :
o
H WNHMr
CHy §
Ph
s
0
H-_ MHMe
I
" Eh
CH 3
2
[
H NH
&
CH, ™~ Me
Ph
o
H NH 4{
?}W P_Fﬂ iﬁlr'h:'
CH;
4

(i} Taly, Puridine

collegedunia:
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Cuestion Number @ 143 Question Ld : 3431079326 Cuestion Type = MOQ Option Shoffling @ Yes Display Question Nomber : Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label | Multiple Choice Question

Which of the following compound 15 an example of "z-isomer” ?

Uipliions :

H
¥
CH; Cl
N/
Br H
2
CH,4 Cl
H Br
3.
CH- H
8, #
H CH3
4

Ouestion Number @ 144 Question Id : 3431079327 Cuestion Type : MO Option Shuiffling @ Yes Display Question Number @ Yes
Single Line Question Option ; No Option Orientation : Yertical Allowed Progression ; Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : ¥ YWrong Marks : 1
Crestion Label @ Multiple Choice Cuestion

A disaccharide (A) does not give a positive test for Tollen's reagent. Upon
acidic hydrolysis, compound (A) gives an equimolar mixture of two different
monosaccharides, both of which can be oxidized by Bromine/Water
{ Bry / H,0). Thus, disaccharide{ A ) is :

Oiptions :

gcol legedunias
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HO

HO
HO

—OH

H/\\_

5
EE\
&2

2
HO—
H
HO
o H
o “h\—-'}’h|
HO T
HG NN
HO OH
4

Cuestion Number : 145 Question Id : S431079328 Question Type : MOOQ Option Shuffling : Yes Display Question Nomber : Yes
Single Line OQmestion Option @ Mo Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : %99 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1 .
collegedunia:
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Cuestion Label | Multiple Chowce Question

Among the tollowing, the group which iz Benzene ring deactivating, but o/p
directing is :

Opilons =
~OCH;
1,
-N=0
2.
_:\_" 2
3.
~COCH,
4

Ouestion Number @ 146 Question Id : 431079329 Cuestion Type : MO Option Shoffling @ Yes Display Question Number @ Yes
Single Line OQestion Cption @ Mo Option Orientation : Vertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : |
Cuestion Labeal @ Mudtiple Choice Oueston

Among the following given compounds I and II; both are :

OH
O/ @nmﬂﬁ
I II
Options =

Enantiomers

Diastereomers
2.

Identical
3

Epimers
4,

Ouestion Number : 147 Quoestion Tl : SA0T03M Cuestion Type : MOOQ Option Shoffing @ Yes Display Cuestion Number : Yes
Eim'!:e I.Iml%uﬂ.:lhn Eplhm ¢ Mo Option Orientation @ Vertical Allowed Progression : Yes Nomber of Replay : 999 Play On Loged ¢
v ot mable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label | Multiple Choce Question

Among the following given ¢-amino acid, which one iz optically inactive ?

Oiplions : .
collegedunia:
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y Glycine

Lucine
2.

Cysteme
=

serine
4.

Crueestion Number : 148 Quoestion Il : 5430079331 Cuestion Type : MOQ Option ShufTling @ Yes Display Cuestion Number : Yes
EL@'I; I.Iml%uﬂéhn Epthm ¢ Mo Option Orientation @ Vertical Allowed Progression : Yes Nomber of Replay : 999 Play On Loged ¢
vy Cant nable : Yes

Correct Marks : 3 Wroang Marks 5 1
Cuestion Label ; Multiple Chowe Question

The major product obtained in the following reachion is -

I [| H;f O [_"H.ﬂ %
- BE; OEt;, 0°C

O
Options :
_ X
' | I - CH,4
A
O
1

e

76

i 7

3
EH; U II 'L_Hj.

-
3. 0

gcollegeduniaa
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Cheestion Number @ 149 Question Id : 34300793532 Quection T:-r&: MG Opiion Shaffing @ Yes Display Question Namber @ Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Chaotce Question

The correct order of the basicity of the following given hetercyclic compound

(I-IV) i=-
—i RS .

(1 Gy O O
H H H
I il I IV

Options :

M=IV=1=1

18

IV=Ill>I>1

2.

IWall>1>1

3

M=IVa>I>1

4.

Ouestion Number ; 150 Question Td : 3431079333 Question Type : MOOQ Optien Shulfling : Yes Display Question Nomber : Yes
Single Line Question Cption : Mo Option Orientation : Vertical Allowed Progresion ; Yes Number of Replay : 999 Play On Logd :
Mo Controd Enable : Ves

Correct Marks 1 3 Wrong Marks ; 1

Cuestion Label ; Multiple Choice Question

gcoi legedunias
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For the following Aldotetroses I-IV, the combmation of true statements among

P-Tis:

CHO CHO CHO CHO
H—1—OH H o Hor—r—a Ho——n
H—r—OH HO H H—r—0OH HO—F—H

CH,OH CH,O0H CH,0H CH,OH

{1 (I1) (1) (IV)

Code :

P =1 and II are diastereomers; and II and III are enantiomers

Q =1and IV are mesomers and are optically inactive

R =T and IIl can be interconverted by a base catalysed isomerization
5=0nlyIand IV are HIO; cleavable

I =1 and II are D-5ugars and Il and IV are L -sugars

Oiplions ;
I_ Qr Rr T

s BOST

& PRT

, QRST

Ouestion Number : 151 Question Td : 3430079334 Question Type : MOOQ Option Sholfling : Yes Display Question Number ; Yes
Einpl]:e le(ﬁhﬁm?p&m : Mo Dption Orientation © YVertical Allewed Progresion : Yes Nomber of ly 2 999 Py Om L :
v Cont e Yis

Correct Marks : 5 Wrong Moarks ; 1
Question Label ; Multiple Chawce Question

For an irreversible reaction, the rate will be affected by charges in all of theze
actors except .

Options :
) surface area of a solid reactant

> tEIIlPE"I' ature

5 concentration of products

, presence of a catalyst

gmllegedunias
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Cuestion Number @ 152 Question Ld : 3431079335 Cuesthon Type = MOQ Option Shoffling @ Yes Display Question Nomber : Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Half life of *C is 5730 years. Approximately how long will it take for 94% of
sample to decay ?

Optiogs :

. 2730

11460

Ouiestion Number : 153 Question Id : 3431079336 Question T : MICOQ Option Shuffling : Yes Display Question Nomber @ Yes
?‘Lngl.r Line {Enrsl:l'liun $pliun Mo Owption Orientation : Yertical Allewed Progression ; Yes Nomber of By = 999 Play Om L :
d Control Eneble : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Ouestion

IR frequency of DCI is shifted from that of HCl This is due to differences in
their :
(ipiions =

dipole moment
1

polanizability
2

force constant

reduced mass

Question Number : 154 Question 1d : 3431079337 Question Type : MOQ Option Shoffling : Yes Display Question Nomber : Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chorce QuesSton

A steam engine in a nuclear power plant operates between 300 (T, ) and 330
(Tp ) K with an efficiency of 53.3%. Its efficiency could be raised by -

Opiions =

gcoi legedunias
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raising Iy
1

lowering T,

5 lowering T; and raising T,

4 raising Ty and lowering T;

Ouestion Number @ 155 Question Ld : 3431079338 Cuesthon Type @ MO Option Shoffling : Yes Display Question Nomber : Yes
Single Line Question Cption @ Mo Option Orientation : Yerteal Allowed Progression @ Yes Nomber of Replay : 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label | Muitiple Choice Question

The spacing between successive energy levels of a particle-in-a one-
dimensiomal box decreases with

Options :

increasing the length of the box
i,

= decreazing the length of the box

= lowering the mass of the particle

, nereasing the quantum number of the lower level

Croestion Numher : 1536 Question Id : 34850079339 Question Type : MOQ Option ShufMling : Yes Display Guestion Number ; Yes
E:r@f:t Lim%m;lhn Eptum ¢ Mo Option Orientation : Yertical Allowed Progresion : Yes Nomber of 2999 PMhay Om L :
vin Conl nahle : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chotce Question

Which of the tollowing molecules doez not show microwave spectra ?

Opilons =
HCl

gcol legedunias
Il ' L st Siusa et v Plalars

-



Ouestion Number @ 157 Quoestion Ld : 3431079340 Cuestion Type = MOQ Option Shoffling @ Yes Display Question MNomber @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes MNomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Which of the following nuclei is not NMR active ?
Uiplions =
1*.::‘&1'

15

g
17
z O
4 ¥o

Chestion Number : 158 Cuestion Id : 343079341 Question Type : MOOQ Option Sholfing © Yes Display Cuestivn Namber : Yes
Emg'l::r E.im%mémn Opdion ; Mo Ohption Orientation : Yertical Allowed Progresion : Yes Nomber of I-E&p WO Py Om Ll :
o Conl nnble

Correct Marks : 3 Wrong Marks ; 1

Question Label : Multiple Choice Question

The Delve-Hiickel limiting law for water in the form : Iny, ==2.0441 (where I
is the electrolyte ionic strength in mol/kg) applies to a dilute solution of

Opiions :

1 KCl

5 Mg50

4 LaCl,

Cuestion Number ¢ 159 Quoestion Ld : S431079342 Cuestbon Type = MOQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Crption © No Option Orientation @ Yertical Allowed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Suestion Label : Multiple Choice Question
Which of the following expreszions is correct for a n-component open system 7
{iptions =

dii |

i =

Lany |7

1 i

gcoi legedunias
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Ouestion Number ; 160 Question Id @ 34301079343 Question Type @ MOOQ Option Shuffling @ Yes Display Cuestion Namber @ Yes
ﬁmﬂ&: Linrrl%nrsgliunﬂpﬁm : Mo Option Orientation ; Yertical Allwed Progression : Yes Nomber of Replay : 999 Play On Load ;
o Contred Enable :

Correct Maorks : 3 Wroong Moarks 3 1

estion Label | Multple Choice Question

Yes

The standard e f. of a propane/oxygen fuel operating reversibly (given the
cell reaction :CaHg + 505 — 3C0s +4H50 's standard AG” = -2103 kJ mol ) is
Oplions :

1.

2,

23N

Fir

105V

g L1¥

4

22V

Section Id ;

Section Mumber ;

Section fype :

Mandatory or Optisnal:
Sumber of Questions:

Number of Questions fa be attempled:

Section Marks:
Drispelay Mumibser Panel:
Groaug All Questions:

fon Control Enable :

Ve

SubsSection Number:
Suh=Section Id:
Question Shullling Allowed :

Ouestion Number ; 161 Question ld : 431079344 Question Ty
Single Line Question Oplisn © Mo Option Crrientation @ Veriics Allowed Frogresion : Yes Namber of Replay @ 999

section E Binlogy

S43I0T137
4

Ul
Oiptwomal
41

41

120

Yes

Mo

1
SEATITT
Yes

: MICO Oyption Shul'ﬂmg Yes Display l}ul‘.‘aﬂ-m Mamber © Yes

~

-

Phay Om Lo =

collegedunia:

Il ' L st Siusa et v Plalars



Correct Marks : 3 Wrong Marks : 1
iCueshon Label | Multiple Chowce Question

The first set of genes to be activated for axis specification of Drosoplils during
early embryonic developmentis :

Oprions =
i Gap genes

- Pair rule genes
- Segment polarity gene

4 Homeotic selector genes

Ouestion Number @ 162 Quoestion Id : 3431079345 Question Type : MCO Option Shaffling @ Yes Display Question Number @ Yes
Single Line OQmestion Option : Mo Option Orientation ; Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Guestion Label - Multiple Chaice Question

During gastrulation the movement of ectodermal cells to cover the entire
embryo is known as

Ciplions -
i Delamimation

> Invagination
3 Ingression

4 Epiboly

Cuiestion Number @ 163 Question 1d : 5431079346 Cuestion Type : MOQ Option Shoffling : Yes Display Question Nomber @ Yes
Single Line Question Option @ Mo Option Orientation @ Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cestion Label ; Multiple Choice Question

Which of the following examples illustrates multiple allelism ?
Options :

; Attached ear lobe

Turner syndrome

Sepia eve colour of Drosophila

ABO blood group in human

gcol legedunias
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Cuestion Number @ 164 Quoestion Ld : 3431079347 Cuestion Type = MOQ Option Shoffling @ Yes Display Question Nomber @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Which type of primary sex determination mechanism is followed in human ?

Oplions :
i X A ratio determanes the zex

s Prezence of one or bvo X chromozome determines the sex

5 Y¥-chromozome determines male sex

4 Haplo-diploidy during early embryanic development determmnes sex

Ouiestion Number : 165 Question Id : 3431079348 Question Type - MOCOQ Option Shulfling © Yes Display Question Number @ Yes
Elmd&!.lr::l%m':‘lnn ?pﬁml £ Mo Option Orientation @ Yertical Allowed Progresion : Yes Nomber of Replay : 999 Play On Lod :
v Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Cuestion

An allele is considered dominant if its phenotype is expreszed

Options :
1 Only in heterozygous condition

» Inhomo-as well as heterozygous condition
- Only in homozygous condition

4 Only in hemizygous condition

Opestion Number ¢ 166 Question T : S40079349 Question Type @ MOQ Opticn Shallling : Yes Display Question Samber @ Yes
i,unﬂilf Lim%ﬂﬂ&ﬂh ?pllml + Moy Option Oreientation @ Vertical Allowed Progression : Yes Noimber of Reply 2 999 Play On Lood :
i Controd Enable : Ve

Correct Marks : 3 Wrong Marks : 1
iCuestion Label . Multiple Chawce Questhon

The maximum frequency during crossing-over that can occur is
Options =

gcollegeduniaa
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Ouestion Number @ 167 Question Ld : 3431079350 Cuestion Type = MOQ Option Shoffling @ Yes Display Cuestion Nomber : Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes MNomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Somatic recombination in immunoglobin gene accounts for :

Oiptions :
; Antibody diversity

s Allelic exclusion
= Aftinity maturation

4 Increazed expression of IgG gene

Ouigstion Number : 168 Question Id : 3431079351 Question Type : MOCQ Option Shulfling © Yes Display Question Number @ Yes
Single Line Question Chpiion : No Option Orientation : Vertical Allowed Frogression : Yes Number of Replay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1

Cuestion Label : Multiple Choice Cuestion

Most abundant antibody in blood circulation is

Options :
y igM

o IgA

5 g

4 IgE

Chestion Number @ 169 Question Id : S431079357 Question Type © MO Opticn ShoMling @ Yes Display Question Number @ Yes
E;nﬂ'l::: Lim%ﬂﬂh‘lﬂh ?pllml : Mo Option Orientation : Vertical Allowed Progresion : Yes Nomber of Replay : 999 Play On Lood -
v Coantrod Enable : Vex

Correct Marks : 3 Wrong Marks : 1
iCuestion Label - Multiple Chawce Queston

The frequencies of two alleles M and N in a population are 0.4 and 0.6,
rezpectively. If the population is in equilibrium, the frequency of the MN
heterozyvgote in the population will be :

(ipiions =

, 016
o 036

3 024

gcol legedunias
Il ' L st Siusa et v Plalars

-



4 048

Ouicstion Number @ 170 Quoestion Id : 3431079353 Question Type : MOCQ Option Shuffling : Yes Display Question Momber : Yes
Single Line Question Option : No Option Orientation : Vertical Allvwed Progression : Yes Mumber of Replay : 999 Play On Load :
No Control Enable @ Yes

Correct Marks : 3 Wrong Marks : 1

Zuestion Label - Multiple Choice Question

A living fossil is

Oipiions =

y, tossil preserved in almost live condition

s An organism which is newly evolved and living

An organism which has survived without any substantial evelutionary

- changes over a long period of time

4 Anorganism which just died

Ouestion Number : 171 Question Tl : S43079354 Goestion Type : MOD) Option Shaffling © Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progresdon : Yes Nomber of Replay : 999 Play On Logd :
Mo Cantrol Enable : Yes

Correct Marks : 3 Wrong Marks ;1

Question Label ; Multiple Chaowce Question

Species inhabiting the same geographical area are known as

Options :

i Sympatric

o Allopatric

o Stasipatric

4 Parapatrnic

Omestion Number ; 172 Question Id : 3430079355 Cuestion Type © MOOQ Option Shoffling : Yes Display Question Nomber © Yes
ﬁ:ung'l;l: Line {Enrs;liun $pl]'un i Mo Option Orientation : Yertical Allwwed Progression : Yes Nomber of Izepta;r 3999 Play On Load :
v Uontrol Ensble : Yes

Correct Marks : 3 Wrong Murks : 1

Zuestion Label : Multiple Choice Question

A perzon takes 10 umits of insulin mjection daily at 3 AM. One day his son gave
him 15 units of insulin at 3§ AM conzidering the father will go to the party and
eat more during lunch. The father also avoided breakfast as he planned to eat
maore during lunch. Which one of the following condition will occur ?

Options :

; Father will be normoglycemic

gcol legedunias
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» Father will be hypoglycenic before lunch

- Father will be hyperglycemic before lunch

4 Blood glucoze of father will be low after taking lunch

Crestion Number ; 173 Question Id : 3431079356 Question Type : MOQ Option Shoffling : Yes Display Question Number © Yes
Sir@f:: Line {:El:nﬂsliun gpﬁlﬂl i Mo Option Orientation ; Yertical Allrwed Progression : Yes Namber of Replay : 999 Play On Laood ;
Mo Controd Enable : Yes

Correct Marks : 3 Wroog Marks ; 1

Question Label - Multiple Choice Question

Which of the following is an enzyme that is associated with a membrane
channel] function ?

(hpiions =
1 Acomtase

o Dehydrogenase
2 Fumaraze

4 ATPaze

Cuestion Number @ 174 Question Td : 3431079357 Qoestion Type : MOOQ Option ShoiTling @ Yes Display Question Namber : Yes
Single Line Question ?ptmn : Mo Option Orientation ; YVertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load ;@
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Labal - Mulaple Choice Juestion

What organelle processes and packages proteins before sending them out of
cell during secretion ?

Options :
4 Chater membrane of nuacleus

> Endoplaznuc reticulum
5 Golgi complex

4 Plasmia membrane

Ouestion Nomber : 175 Question Id : 340079358 Question Type = MOO Option ShofMing © Yes Display Cuestion Number : Yes
Single Line (uestion Crption : Mo Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Lood -
Mo Controd Enable : Ve

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The membrane phospholipids form bilayer, due to

Options =

gcol legedunias
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y 1ts amphipathic nature
- Presence of only unsaturated fatty acids

= Presence of only saturated fatty acids

4 Presence of cholesterol conjugated to phospholipids

Ouestion Number : 176 Quoestion Id : S431079359 Cuestion Type : MO Option Shoffling @ Yes Display Question Mumber @ Yes
Single Line Question Option @ ¥o Option Orientation : Vertical Allowed Progression : Yes Nomber of Replay : %99 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : |

Guestion Label - Multiple Choice Question

Aquatic primary produchivity was measured using Light and Dark bottle
method. If the initial Oxygen concentration was [ and the fnal oxvgen
concentration in light bottle was L and that in dark bottle waz D, the net
productivity m terms of oxvgen released will be ;

Options ;

i I'=D

COueestion Number : 177 Question Ld : SA30079360 Cuesthon Type @ MOQ Opthen Shoffliog @ Yes Display Question Number : Yes
Single Line Question Chption : Mo Option Orientation : Vertleal Allowed Progression : Yes Nomber of Replay : 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The main producers in an aguatic ecosystem are :
Oiptions :

j Sponges

» Zooplankton

5 Phytoplankton

4 Detrivores

Ouiestion Number @ 178 Question Id 2 5430079361 CQuestion Type © MOOQ Opthon ShufMling @ Yes Display Question Numnber @ Yes
Single Line Question Option : No Option Orentation : Vertical Allowed Progresson @ Yes Number of Beplay : 999 Play On Load -

Mo Control Enable : Yes
gcol legedunias
Il ' L st Siusa et v Plalars

Correct Marks : 3 Wrong Marks : 1



Cuestion Label | Multiple Choce Question
In Urochordata notochord is

Oplions :
£ Contined in head region

o Prezent throughout the lite
- Present only in larval tail region

4 Replaced by vertebral column

Chsestion Number : 179 OQuestion Id @ 5431079362 Cuestion Type : MOOQ Option Shulfling © Yes Display Cuestion Number © Yes
Single Line Question Chpiion : No Option Orientation @ Yertical Allowed Frogression : Yes Number of Replay : 999 Play On Load :
Moo Controd Ensble : Ve

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Chotce Cuestion

Which of the following is the feature of Mammalia ?

Oiptions :
i Prezence of paired pharyngeal gill =lits

> Cranium and vertebral column is cartilaginous

- Presence of mid digital hair

4 Presence of mammary glands

Oestion Nomber : 180 Question Id : 3430079363 (Question Tyre: MO Option ShuMing : Yes Display Question Number @ Yes
E:'m;'lf Lim%ﬂt&;‘iﬂn ?pllml : Mo Option Orientation : Vertical Allowed Progresion : Yes Noimber of Replay : 999 Piay On Lood -
v Controd Enable : Ve

Correct Marks : 3 Wroog Marks : 1
Cuestion Label - Multiple Choice Question

In which animal two chambered heart is present :

Options =
{ Crocodile

> Toad
- Scoliocdon

o Pigeon

Cuestion Number ; 181 Question Id : 3431079364 Question Type : MOOQ Option Shuffling : Yes Display Question Nomber ; Yes
iiunglt Ling Question Cyptien © Mo Option Orientation © Vertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Losd :
v Control Ennble : Yes

Correct Marks : 3 Wrong Marks : 1

-
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Cuestion Label | Multiple Chowce Question
Which of the tollowing is a poisomous plant ?

Optinns :
i Rawvolfia serpenting

o Withania somnifera
3 Calotropis procera

& Heliantliz annuus

Oheestion Number : 182 Question Id @ 3431079365 Question Type : MO Option Shulfling : Yes Display Cuestion Number © Yes
EIM&!.E::I%M.:‘IM ?pﬁml £ Mo Option Orientation @ Yertical Allowed Progresion : Yes Nomber of Replay @ 999 Play On Lod :
v Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label © Multiple Chotce Cuestion

Which of the following plant causes skin allergy ?

Oiptions :
i Parthenium hysteropliorus

= Vinca rozea
Nerinm indicitn
5 WNerim fnndicum

4 A F'SL‘.FHI‘.I'HI" MeEXrcaim

Oestion Nomber : 133 Question Id : 3430079366 (uestion Tyre: MO Option ShuMing : Yes Display Question Number @ Yes
E:um!‘;‘l'_:: Lim%ﬂﬁ;‘hh ?pllml + Mo Option Orientation @ Yertical Allowed Progression : Yes Nomber of Reply 2 999 Play On Lood :
v Controd Enable : Ve

Correct Marks : 3 Wroog Marks : 1
Cuestion Label - Multiple Choice Question

Seeds of which plant are used to adulterate nustard oil :

Options =
i Papaver somniferum

o _'q.i'gr.‘l”ﬂ”l" Mexicana

3 Lantana camara

o Porthenium hysterophorus

Cuestion Number ; 184 Question Id : 3431079367 Question Type : MOOQ Option Shuffling : Yes Display Question Nomber ; Yes
ii.unglt Ling Question Cyption : Mo Option Orientation © Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Losd :
v Control Ennble : Yes

Correct Marks : 3 Wrong Marks ; 1
gcollegeduniaa
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Cuestion Label | Multiple Chowce Question
Cuscuta reflexa is an example of -

Oplions :
2 Saprophytic plant

o Total stem parasite
= Partial stem parazite

4 Inzectivorous plant

Oheestion Number : 185 Question Id @ 5431070368 Question Type : MO Option Shulfling :© Yes Display Cuiestion Number @ Yes
Single Line Question Chpiion : No Option Orientation @ Yertical Allowed Frogression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label : Multiple Choice Juestion

The plant used for bronchitis and asthama is

Oiptions :

i Adhatode vasica

> Rueilia tuberosa
5 Withania somuifera

4 Vince rosea

Oestion Nomber : 186 Question Id : 3430079369 (uestion Tyre: MO Option ShuMing : Yes Display Question Number @ Yes
E:'m;'lf Lim%ﬂt&;‘iﬂn ?pllml : Mo Option Orientation : Vertical Allowed Progresion : Yes Noimber of Replay : 999 Piay On Lood -
v Controd Enable : Ve

Correct Marks : 3 Wroog Marks : 1
Cuestion Label - Multiple Choice Question

Which of the following is knovwn as ‘Biodiesel plant’ ?

Options =
i Tatraldia crireas

5 Taxtiz baccata

- Alge vern

4 L_ll.i'ﬂh"l'.'l‘lt-‘f:_- procerit

Cuestion Number ; 187 Question Id : 3431079370 Question Type : MOOQ Option Shuffling : Yes Display Question Nomber ; Yes
iiunglt Ling Question Cyptien © Mo Option Orientation @ Yertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Losd :
v Control Ennble : Yes

Correct Marks : 3 Wrong Marks : 1
gcollegedunias
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Cuestion Label | Multiple Chowce Question
Which of the following is partial root parasite ?

Oplions :
£ Cusculba refleaa

o Cyeas revalida
3 Santalum allmimn

& Orchids

Chsestion Number : 188 OQuestion Id @ 3431079371 Question Type : MOOQ Option Shulfling © Yes Display Cuestion Numiber © Yes
Single Line Question Chption : No Option Orientation : Yertical Allowed Frogression : Yes Number of Replay @ 999 Play On Lo :
Mo Control Enable : Ve

Correct Marks : 3 Wrong Marks ; 1

Cuestion Label © Multiple Chotce Cuestion

Respiratory roots are found in -
Oiptions :

1 I‘w’imgrﬂvﬁ
o Orchids=

. Opuntia

4 Hydrophytes

Oestion Number : 1839 Question Id : 3430079372 (Question Tym: MO Option ShuMing : Yes Display Question Number @ Yes

Single Line Qaestion Chption : Mo Option Orientation ;@ Vertical Allowed Progression : Yes Nuimber of Reply 2 999 Play On Lood -
Mo Contred Enable : Ve

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Question

Abnormal secondary growth is found in the stem of :
Options =

; Wyctanthes

5 Bignonia

Neriiom
3

A rovmone
P

Cuestion Number ; 190 Question Id : 3431079373 Question Type : MOOQ Option Shuffling : Yes Display Question Nomber ; Yes
Single Line Question Cption : No Option Orientation ; Vertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Lood :

Mo Control Enoble : Yes
gcnilegeduniaa

Correct Marks : 3 Wrong Marks : 1
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Cuestion Label | Multiple Chowce Question
Golden rice is a rich source of -

Oplions :
£ Vitamin A

5 Vitanun B
2 Vitamin C

Vitanun D

Chsestion Number : 191 OQuestion Id @ 3431079374 Question Type : MOOQ Option Shulfling © Yes Display Cuestion Numiber © Yes
Single Line Question Chpiion : No Option Orientation @ Yertical Allowed Frogression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label : Multiple Choice Cuestion

The most important antigens are

Oiptions :

y Steroids

- Proteins

3 MNucleotides

& Inglycerides

Oestion Nomber : 192 Question Id : 3430079375 (Question T}re: MO Option ShuMing : Yes Display Question Number @ Yes
E:l‘rl!;":l.'- Lim%ﬂt&;‘hn E'pllml + Mo Option Orientation @ Yertical Allowed Progression : Yes Noimber of Reply 2 999 Play On Lood :
v Controd Enable : Ve

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Question

There is no immunization against -

Options =
; Meazels

> Ivhoid
5 Small pox

. Ampoebiosis

Cuestion Number ; 193 Question [d : 3431079376 Question Type : MOOQ Option Shuffling : Yes Display Question Nomber ; Yes
Single Line Question Chption - No Option Orientation ; Vertical Allvwed Progression : Yes Nomber of Beplay @ 999 Play On Lood :

Mo Control Enoble : Yes
gcnilegeduniaa

Correct Marks : 3 Wrong Marks : 1
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Cuestion Label | Multiple Choce Question
Spirulinag is a source of

Options :
; Biopesticide

5 single cell protein

5 Biofertilizer

X Alcohol

Ohsestion Number @ 194 OQuestion Id @ S431079377 Question Type : MOOQ Option Shulfling : Yes Display Cuestion Number © Yes
Single Line Question Chption : No Option Orientation : Yertical Allowed Frogression : Yes Number of Replay @ 999 Play On Lo :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label : Multiple Choice Juestion

A bacterium containing prophage iz called as :
Oiptions :

i Lvtic

» Lysogen
. Lytogen

4 € hitosan

Omestion Nomber : 195 Question Id : 3430079378 Question Tyre: MO Option ShuMing : Yes Display Question Number @ Yes
E:l‘rl!;":l.'- Lim%ﬂt&;‘hn E'pllml + Mo Option Orientation @ Yertical Allowed Progression : Yes Nomber of Reply 2 999 Play On Laood :
v Controd Enable : Ve

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Question

Which of the following is an example of RNA virus ?
Options =

1, MV
5 T4 phage

a: Mnu

Cuestion Number ; 19 Question Id : 3431079379 Question Type : MOOQ Option Shuffling : Yes Display Question Nomber ; Yes
Sr:ringlt Ling Question Cyption © Mo Option Orientation © Yertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Losd :
v Control Ennble : Yes

Correct Marks : 3 Wrong Marks : 1
gcnilegeduniaa
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Cuestion Label | Multiple Chowce Question
Penicillin is commercially produced by :

Oplions :
£ P notatum

o P. clirysogenum

trintzom
= P.ci

4 P roquefortii

Chsestion Number : 197 OQuestion Id @ S431079380 Cuestion Type : MOOQ Option Shulfling © Yes Display Cuestion Number : Yes
Single Line Question Chption : No Option Orientation : Yertical Allowed Frogression : Yes Number of Replay @ 999 Play On Lo :
Mo Control Enable : Vex

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Chotce Cuestion

Heating milk or water at 65°C and then cooling suddenly is called as ;

Oiptions :

1 Pasteurization
o Sterilization
5 Prezervation

" Refrigeration

Oestion Nomber : 198 Question Id : 3430079381 Question Tyre: MO Option ShuMing : Yes Display Question Number @ Yes
E:l'ﬂ!;":l: Lim%ﬂﬁ;‘hh E'pllml : Mo Option Orientation : Vertical Allowed Progresion : Yes Noimber of Replay : 999 Piay On Lood -
v Controd Enable : Ve

Correct Marks : 3 Wroog Marks : 1
Cuestion Label - Multiple Choice Question

Taxol an anticancer drug is extracted from :

Options =
1 Taxus

5 Githkgo

5 Epliedra

o Ciyjcas

Cuestion Number ; 199 Question [d : 3431079382 Question Type : MOOQ Option Shoffling : Yes Display Question Nomber ; Yes
Sr;inglt Ling Question Cyptien © Mo Option Orientation © Yertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Losd :
v Control Ennble : Yes

Correct Marks : 3 Wrong Marks : 1
gcoilegeduniaa
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Cuestion Label | Multiple Chowce Question

705 Ribosome breaks into which of the following

Oplions :

£ 05 and 405

5 505 and 305
= 505 and 205

4 455 and 255

Chsestion Number @ 200 Question Id @ S431079383 Question Type : MOOQ Option Shulfling © Yes Display Cuestion Number © Yes
Single Line Question Chption : No Option Orientation : Yertical Allowed Frogression : Yes Number of Replay @ 999 Play On Lo :

Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label : Multiple Choice Juestion

Pioneer to indicate the significance of blue-green algae in relation to nitrogen

hixation in Indian agriculture is :

Uiplions =

i R.N. Singh

2

= P. K De

4 F.E.Fogg

Section Id :

Section Mumber :

Section type =

Y. Bharadwaj

Mandatory or Opticnal:
MNumber of Questions:
MNumber of Qoestions to be attempted:

Section Marks:

Dhsplay Number Panel:
Group All Questions:

Sub-Section Number:
Sub-Section Id:

Cuestion Shuffling Allowed =

Section B Mathematics

543107138
5

Cinline
Oiptinal
gl

40

120

Y

Mo

1
543107178
Yes

Ouestion Number : 2001 Question Id @ S430079384 Ouestion Type @ MOQ Option Shoffling @ Yes Display Question Mumber @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :

Mo Control Enable : Yes

collegedunia:
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Correct Marks : 3 Wrong Marks : 1
iCueshon Label ;| Multiple Chowce Question

The equation of plane passing through (-1, 3, 2) and perpendicular to each of
the twoplanesa + 2y +2:=5and 3x + 3y + 22 = 8is

Oipiions =
j 2x—dy+3=+8=0

g Yr=3y+2=+6=0

s J+2y-21-1=0

qla—3u+31+b=ﬂ

Cruestion Number : 202 Quoestion Id ; 3430079385 Question Type : MOOQ Opticn Shuaffling @ Yes Display Question Nomber © Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Nomber of Heplay @ 999 Play On Load :
Mo Contred Enable : Yes

Correct Marks : 3 YWrong Marks ; 1
Cuestion Label - Multiple Choice Question

. ; X— -7 z=7
The length of the perpendicular trom (1, 2, 3) to the line ; = 2.4 .

Oipiions =

p 9

L]

" 7

-
4906

Ouestion Number @ 203 Question Id : 3431079386 Question Type : MOQ Option Shuffling @ Yes Display Question Nomber @ Yes
Single Line Question Cption @ No Option Orientation : Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Choice Question

The three planes 2a — v+ = =4, 55 + 7y + 2z = 0 and 31 + 4y - 2= = 0 intersectin
Options =

) A point

5 A line

i A prism

gcol legedunias
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4 Mone of the three

Ouestion Number : 204 Quoestion Id @ 5431079387 Questbon Type @ MOQ Opthon ShofTing : Yes Display Question Nomber @ Yes
Single Line Question Cptlon @ Mo Option Orientatlon : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label : Multiple Choice Question

The values of & for which the plane x + y + k= = 3 15 tangent to the sphere
] T

X -i-l.l'_-v'-'_‘l —43 +6y+9=0 areequal to :
Oiptions :

, 242

i None of the three

Crestion Number ;: 205 Question Td : SEI0TYIEE Question Type : MOOQ Opticn Shalfling : Yes Display Question Somber © Yes
ﬁim"l:!: !;im%mﬂun?pﬂw ¢ Mo Option Orientation : Vertical Allowed Progression : Yes Nomber of Replay : 999 Play On Lood :
o Cont imable : Yes

Correct Marks : 3 Wrong Morks ; 1
Cuestion Label - Multiple Chaowce Question

The plane ax + by + ¢2 = 0 cuts the come y= + 21 + Ay =0 if :

Oiptions :
i a+bh+e=0

LI .
3 it I‘ L

(a+b +¢‘j|! Satad I=EI
3 LW | b ¢

i !" [

—+—q——=
4 B C R

Ouestion Number @ 206 CQuestion Id : 3431079389 Cuestion Type : MO Option Shuffling @ Yes Display Question Number : Yes
Single Line CQuestion Option ; Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : ¥ YWrong Marks : 1
Cestion Label | Multple Choice Question

It a curve iz defined by parametric coordinates x = [ cos ¢, y = m sin }. Then the

radius of curvature at any point f is given by :

gco! legedunias
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Opiions =

: DR 3 v
1 I=sin“t+m* cos™ t

3
z

1 3 3 3 3
—{i" sin” f4+m” cos" |
T

1, s P
—{42 cos” t+msin” fF
g Im

- %
sm*” fcos® |

Cuestion Number : 207 Quoestion Ld : SA31079390 Cuestbon Type = MOQ Option Shuffling : Yes Display Question Mumber : Yes
Single Line Question Crption © No Option Orientation @ Yertbeal Allvwed Progression @ Yes Number of Replay @ 999 Play On Laoad -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
iZuestion Label - Multiple Chowe Question

The chord of curvature through the pole of the curve r=ae™ is-

Options ;

ar
I

[k
-

Ouiestion Number : 208 Question Id : 3431079391 Question Type < MOCOQ Option Shulfling © Yes Display Question Number © Yes
Single Line Question Chption : No Option Orientation : Vertical Allowed Progresion : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Morks : 3 Wrong Marlks ¢ 1

Cuestion Label © Multiple Chotce Cuestion

If -r_r=.u"+_u|;-—"_.f:_ﬂ19n

Options ;
, div r=1curl r =0
5 div r =2 curl r =1

g div r =3, curl r =0

4 div r =4, curl r =1

gcol legedunias
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Cuestion Number @ 209 Quoestion Ld : 3431079392 Cuestion Type = MOQ Option Shoffling @ Yes Display Question Nomber @ Yes
Single Line Question Option @ Na Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Cuestion Label | Multiple Choice Question

A particle moves along the curve i = 41, y= £ = 2t + 3 where ! is time.
The component of acceleration at t = 1 in the direction 7 + j + 3k is given as
Opiions =

8

5

o V11

3

3 513

5

5

Quiestion Number : 210 Question Ld : 5431079393 Question Type : MOQ Option Shuffling : Yes Display Cuestlon Nomber : Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label | Multiple Choice Question

If a(x, ¥, =) and b (x, y, =) are two differentiable vector functions, then
Options =
y curl | aXxb)=adirh — b dira+(bFVa+la V)b

o rrrn‘{FHF:l= b diva - Faf."ri_;+{i_" Via—(a V)b

5 curl (Aaxb)=adivd - b diva+(b Vya-(a V)b

g cutl (axb)=bdiva — adiob+(b Via=(a. V)b

Ouestion Number : 211 Question Id : 3431079394 Question Type : MO Option Shollling @ Yes Display Question Namber : Yoes
E:Dngf:l:: Ling Question Optisn ; Mo Option Orientation @ Vertical Allowed Progression : Yes Nomber of Replay ; 999 Play On Losd :
v Control Enable @ Yes

Correct Marks : 3 Wrong Marks: 1
Crrestion Label @ Multiple Choice Cuestion

-5 -8 0
The matrix A=| 3 5 0 |, then Alis:
| 1 2 -1_!

Ohpliogs :

gcol legedunias
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; ldempotent
5 Nilpotent
5 Periodic

4 mvolutory

Cuestion Number : 212 Quoestion Id : 3431079395 Duestion Type : MOQ Option Shaffling : Yes Display Question Momber @ Yes
Single Line Question Option @ No Option Orientation : Vertical Allowed Progression : Yes Nomber of Heplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labl - Multiple Choice Ouesticn

I 2
; . dy | (dy)
The order and degree of the differential equation y=1—+ 1 +[

= \| o [

Oiptions ;
j Bpd

Cheestion Number : 213 Quoestion Id @ 5431079396 Question Type : MOQ Option Shulfting : Yes Dhisplay Question Number : Yes
Single Line Question Crption : No Option Orientation : Yertical Allowed Progresion : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Ve

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Choice Cuestion

The integrating factor of the differential equation (1+ v ) =(tan" y—x) dy is:
Oiptions =

OQuestion Number : 214 Question Id ; 431079397 Question Type : MOQ Option Sholfling : Yes Display Question Namber : Yes
Single Line Question Crption : Mo Option Orientation : Vertical Allowed Progression ; Yes Number of Replay : 999 Play On Logd :

Mo Control Ennble : Yes
gco! legedunias
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Correct Marks : 3 Wrong Marks : 1
iCueshon Label ;| Multiple Chowce Ouestion

The solution of the differential equation (1 D +2:°D? 41 D=0 is:

Oipiions =
. a+blog x) +c(log 1)

4 41+El{lng.::|'l +c'{lng.u}'1
, 2 3
a a{log 1) +blloga)” +cfloga)

]
i M+ bx+ecx™

Oueestion Number : 215 Question Id : 3431079398 Cuestion Type : MOOQ Option Shuffling @ Yes Display Question Number @ Yes
Single Line Question Option @ No Option Orientation : Yertical Allvwed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks :
Cuestion Labeal @ Mudtiple Choice Ouestion

i : ; 3
The family of the curve arthogonal to the family of curve ay™ = .13 (where q 15 a
parameter}is :

Options :

y: 34;3 -My*=r
3 %
__-_! s

> 2 3y i

Omestion Number : 216 Ouestion bd : 3430070399 Question Type : MOQ Option Shullling : Yes Display Question Number : Yes
ﬁ_ijnd: I.i::‘%m_l:llun Epﬂl}n : Mo Dhplion Orientation ; ‘f’:rlimmlhwd Progression : Yes Nomber ﬂl']i&]li:t} 2999 Play Om Lad :
Control Enable : Yes

Correct Marks : 3 Wrong Marks ;1
Cuiestion Label | Multiple Choice Question

b g i
The zolution of differential equation -fi-p (cosx)y=5inACcOSX 15:
T

Opilons =

, W)= (sinx - 1)+ Ce™ =

o ¥(x)= (sinx + 1)+ Ce ™"

gcol legedunias
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g W)=(sinx- 1)+ CeSnY

" Hx)=(gin x + 1)+ Ce™™"

Ouestion Number : 217 Quoestion Td : S431070400 Cruestion Type = MO Opthon Shulfling : Yes Display Question Nomber @ Yes
Single Line Question Cpiion @ Mo Option Orientation : Vertical Allvwed Progression : Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Suestion Label © Multiple Chotce Cuestion

3
; 1"y dy 2
The solution of the ditferential equation 'Tw-—li—-—lu =3¢"", where y(0) = 0
Ax- X

and ¥ (0)=—21is:

Ohptions :
= Ty ¢l
Wx)=v¢ T
i
X =21 2
A= =0 =g
> y{x)

— o
X)=¢ " +& +—¢

3 2
¥ ¥y A Oy
Hx)=e¢ —¢ 'l'?f
4. .

Crestion Number : 218 Question Ld @ SE079400 Question Type : MOQ Option Shalfling © Yes DHsplay Chuestion Sumber : Yes
Single Line Question Option ¢ Mo Option Orientation @ Vertbeal Allowed Progression @ Yes NMumber of Heplay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label | Multiple Choce Question

If I'! denotes the inverze Laplace transtorm, then L X %

\ s{8" +1w™) |

Options :
1—cos(it)

1 — ena(zint)

3 It

1—zin{uf)

i

gcol legedunias
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Cuestion Number @ 219 Quoestion Ld : S431079402 Cuesthon Type = MOCQ Option Shoffling @ Yes Display Question Nomber @ Yes
Single Line Question Option @ Na Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Find the Laplace transform of 3¢ ™ sin(wot) :

Optiogs :
S
| - ]
S=) —ir
| (s+0)
Bt

—_—
5 (s+ay +n~

(2]
- ]

Cestion Number : 220 Question Id ; 3431079403 Question Type : MOQg Option Shallling : Yes Display Question Namber ;@ Yes
i!nq#' Lineg Question Cyptisn ; Mo Option Orientation @ Vertical Allowed Progression : Yes Nomber of Replay ; 999 Play On Losd :
v Control Enable @ Yes

Correct Marks : 3 YWrong Marks: 1
Cuestion Latesl | Multiple Choice Cuestion

If the Laplace transform of Y(#) iz w(s), then for initial wvalue problem

s
Ay 1Y :
E —Y=LYH=1, i= 1, when { = 0, the value of y(s) is -
|:”'_ |I'.f
Opiions =
e
j s—1 \s2-1 )
1 1 1}
e I:-I—l 5/
- )
3, 5—1 \ ﬁz—l :'.1 f
1 1 1 |,
it b e 0
" s—=1 \s5+1 s

Question Number : 221 Question 1d ; 5431079404 Question Type : MOQ Option Sholfling : Yes Display Question Namber : Yes
Single Line OQuestion Option ; Mo Option Crientation ; Yertical Allvwed Progresdon ; Yes Nomber of Replay @ 999 Play On Lo :

Mo Control Ennble : Ves
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Correct Marks : 3 Wrong Marks : 1
iCueshon Label | Multiple Chowce Ouestion

If Lif (H)} = F(s), where L denotes the Laplace tranzform, then L-;r']"_,l"[r]} i

Oipiions =
.F L N
5 | |

5 aFisi
Fiz -}
2

4 F{ﬂ:’-b

Oueestion Number : 222 Question Id : 3431072405 Cuestion Type : MOOQ Option Shuffling @ Yes Display Question Number @ Yes
Single Line Question Option @ No Option Orientation : Yertical Allvwed Progression : Yes Number of Replay : 999 Play On Load :

Mo Control Enable : Yes
Correct Marks : 3 YWrong Marks :
Cuestion Labeal @ Mudtiple Choice Ouestion

The function fix) = |[x=1| + |x=2| iz not desirable at

Options =
i 0

)
1
Il
s

-
Il
[—
1
Il
%]

Cruestion Number ; 223 Question Id : 3431079306 Question Type : MOOQ Option Shoffling : Yes Display Question Nomber : Yes
Single Line Question Option : No Option Orientation ; Yertical Allovwed Progression : Yes Nomber of BReplay : 999 Play On Load :

Mo Control Enable : Yes
Correct Marks : 3 Wrong Muarks : 1
Cuestion Labeal © Muinple Choice Ouestion

1

Segquence {——+——+....%
(12

Options =
j ronvergent

o divergent

- oscillatory

e — i 1
r;.{ar-!—l}!

~

-

collegedunia:
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4 Tone of the three

Ouestion Number @ 224 Quoestion Ld : 5431072407 Cuestbon Type = MOQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Cption © No Option Orientation @ Yertbeal Allvwed Progression @ Yes Number of Replay @ 999 Play On Load :
Mo Controd Enable : Yes

Correct Marks : 3 Wrong Marks ¢ 1
Cuiestion Label : Multiple Choice Question

If the sequence {a,},_; of elements in the interval (-1, 1) is given, then which
one of the following 1s true ?

Oiplions =
; Every limit point of {a,} izin (-1, 1)

5 Every limit point of {a,} 1sin [-1, 1]
3 The limit points of {a,} can only be in {-1, 0, 1}

i The limit points of {a,} cannot be in {-1,0, 1}

Ouiestion Number @ 225 Question Id : SA31079408 Cuestion Type = MOQ Opthon Shoffling @ Yes Display Questbon Nomber @ Yes
Single Line Question Optlon @ Mo Option Orientatlon : Vertical Allowed Progression : Yes Noumber of RHeplay : 999 Play On Losd :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cestion Label : Multiple Choice Question

3
! a-u
IF u =£__1.'L,r.' then —— is '-"-'iuﬂl to
ol
Opiions =
- ] - -ku‘-

(A= 4+~ + ="+

3| 5 5 "
% (1+a"y=2° +3ayze™

s

H+:|1 --|.rl—:'_‘}r'

y i -
5 (32 +Iy+ =+ 4"y 2" )e'F

Crestion Number ; 226 CQuestion Id : 3431079409 Question Type © MOQ Oplion Shoffling @ Yes Display Question Number @ Yes
Singf:: Line Dpnt-'sliun gpﬁum i Mo Option Orientation ; Yertical Allwwed Progression : Yes Number of Replay : 999 Play On Laood ;
Mo Contred Enable : Yes

Correct Marks : 3 Wrong Murks : 1
cuestion Label © Multiple Choice Cuestion

gcoi legedunias
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Xy e
For the function f(x,y)=" ?-T ol L Which of the following is
U0 # (=00
not true ?
Options :

| limy g fx,0)= £(0.0)
o Y0 f(0, v)= f(0,0)
o 1My fl49)= (0,0

5 hmyy y1-0.0) f(x, v)= £(0,0)

Chuestion Number ; 227 L'lursllun Id : 3431079400 Ouestion T MO Option Shuflling : Yes Display Um:stnm Number ; Yes
ﬁ-l“ngjr Line %uﬁtl;m Oyptioan : Mo Option Cricnlation ; ‘r‘rﬂnmlhﬂﬂ Progression ; Yes Nomber of Replay : 999 Play On Load :
Coptrol Enable :

Correct Marks : 3 Wrong Marks : 1
iuestion Label - Multiple Chowce Cuestion
[ % , if x is ratHonal

' : - | | z
The tunction f(x)=1{ e : 15 contimuaous at
Isinx , ifxisirrational

Oplions =

l_.v.=ﬂ

2—_.'-=.1

I=72

._.
L}

4 2

Ouiestion Number @ 228 Question Id : S431079411 Cuestion Type = MO Opthon Shoffling @ Yes Display Questbon Nomber @ Yes
Single Line Question Optlon @ Mo Option Orientatlon : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Losd :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Coestion Label : Multiple Choice Guestion

X4l

lm"q.t.u}—-ulngl.[n‘ 15.

Options :
1. 1

2
5 <

gcol legedunias
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Cuestion Number @ 229 Ouestion 1d : S43007%412 Cuestion Type = MOQ Option Shoffling @ Yes Display Question Nomber @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label - Multiple Choice Question
The function f(z)=|=|"is

Oiptions :

) differentiable everyivhere

- differentiable only at the origin
5 not ditferentiable anywhere

4 differentiable on real 1-axis

Oueestion Number : 230 Question ld : 5431079413 Cuestbon Type = MOQ Option Shuffling © Yes DMsplay Question Namber : Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label - Multiple Chowce Cuestion

The domain of the function flyj=———m——++a+3 i5;
logpll—2a)

Oiplions -

1 %1

3 :_J'. l]k“iuk

4 None of the three

COueestion SNumber : 231 Question Ld @ S431079404  Cuestbon Type = MO Option Shoffling @ Yes DHsplay Question MNamber @ Yes
Single Line Question Option : Mo Option Orientation : Vertical Allowed Progression @ Yes Nuomber of Heplay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label - Multiple Chowce Cuestion

The partial differential equation for the surface = =ax + by is

Options =
j TEPV+ R

gco! legedunias
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2. = =Py =i

T = l|Ii',"|. + |:||r|f

3.

4 SEPX-q

Oueestion Number : 232 Question Id : S430079415 Question Type © MOOQ Option ShulTling : Yes Display Creestion Nuanber : Yes
Single Line Qruestion Crption : No Option Orientation © YVertical Allowed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks 1 1

Cuestion Label | Multiple Choice Question
The solution of partial ditferential equation (D? +2D'D+D?):=

B
l1..T+.'H| .

-

Options ;
2 +1'
'_=l.,hjL|.r—.1|l+.ul'n{|.r—.n+—r"l' 4
LY ra o5
l .
| S o
=_=,1»:111_|.r-,1.]+.1.u_-1_-.[_r.l-,:.}+Tr*"' "
2. =
|
=0 (5 — 1)+ 205 (y—2)+—e 3y
3 = 5
1 o T
i -”-:'1“."'" A) I.I‘Q"-I{I..l'“.l :|+‘—'l."2" S
F ' i 25

iom Number : 233 Question 1d : 3431072416 Question Type : MOQ Option Sholfling : Yes Display Question Number : Yes
Er:“nglljl: Li:&%ﬂﬁlhn gphun ; Mo Option Orientation : Yertical Allvwed Progresion : Yes Nomber of Replay @ 999 Play On Lood ;
! onl mble : Yes

Correct Marks : 3 Wrong Marks ;1
Cuestion Label - Multiple Chowe Question

The complete integral of equation pyg- = p:i.u]l 1—;.111+q2|: |,-'}:'+q: ) is given by :
Oiptions :

2 2 2 2
O L e R e

1 2 2 2 2
o ADZ=4 (ab=a )+ b (ya+ D7)

3 .:i1==n3:.111-;:31+i::r=_m ~b*)

y b= =.124.1I!-r.11]+1r1|[.u.! +E=:}

Cruestion Number ; 234 Question [d : 3431079417 Question Type : MOQ Option Shoffling @ Yes Display Question Number ; Yes
!r:;inﬂl: Line %ur-'s;liun gptlun ; Mo Option Orientation ; Yertical Allwwed Progresion : Yes Nomber of Beplay : 999 Play On Laod :
i Control Ensble : Yes

Correct Morks : 3 Wrong Muarks : 1
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Cuestion Label | Multiple Chowce Question

. _ gt a*= :
The differential equation 5 : —+b——=ay 1= claszihed as -
(b dy=
{iptions =
; elbptic

2 parabolic

= hyperbalic

4 home of the three

Cuestion Number : 235 Question 1d : 3431079418 Question Type : MO Option Shalfling : Yes Display Question Namber : Yes
Single Line OQmestion Cption @ Mo Option Orientation : Yertical Allowed Progression : Yes MNomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 YWrong Marks : 1
Cuestion Label @ Mulnple Chorte Cuestncn

A particle describes a hyperbola i= 1-vrcosH under a force to itz pole. Then
¥

lavv of force is proportional to :
Oiptinns :
7 r

1

3
e

2_?‘

Ouestion Number ; 236 Question Id @ 3430079419 Question Type @ MOOQ Option Shuffling @ Yes Display Cuestion Namber @ Yes
ﬁ:-lnﬂl; Lim%ﬂr&é’mn ?pﬁlﬂl : Mo Option Orientation ; Yertical Allwed Progression ; Yes Nomber of Beplay : 999 Play On Load ;
ont nuble : Ves

Correct Marks : 3 Wrong Muorks ;1
uestion Labss] - Multiple Choice Cuestion

The radial and transverse velocities of a particle are non zero constants. Then
the path of the particle 15 :

Oplions :
; @spiral

o a circle

3. cardioid
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4 anellipse

Crestion Number : 237 Question Td : S400794Z0 Question Type : MOO Option Shallling : Yes Dhisplay Question Sumber © Yes
Eingf:t Li::l%m;lhn gpmm ¢ Mo Option Orientation : t’eﬂhnmlm«eﬂ Progresaon : Yes Nomber of vy s 999 Phay On Laad :
v ol mable : Y

Correct Marks : 3 Wrong Marks : 1

Question Label © Multiple Chowce Question

Let P be a particle whose radial and transverse velocities as well as radial and
transverse accelerations are rezpectively proportional. If r is the radial distance,
then velocity is proportional to -

Oiplings :

5"

5 log r

5 SOME power of radius vector

explr
4. Pir)

Oueestion Number : 238 Question Id : S430070421 Question Type : MO Option ShulTling @ Yes DHsplay Question Number @ Yes
Single Line Question Crption : No Option Orientation @ Yertical Allowed Progression @ Yes Number of Replay : 999 Play On Lood :
Mo Controd Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label : Multiple Choice Question

The speed r of a particle moving along the axis of 1 i= given by the relation
5 " 1
p=mn{3ax—x~ =12a")2 . The motion is simple harmonic wath amplitude :

Opiions =

2a

1,

5.

= i

2an

Ouestion Number : 239 Question Id @ S430079422 Duestion Type @ MOQ Option Shoffling @ Yes Display Question Mumber @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Guestion Label - Multiple Chaoice Question
If two forces P and Q acting at a particle, then their maximum resultant will be :

Oiplinns :
gcol legedunias
Il ' L st Siusa et v Plalars

y AP+ Q)



p None of the three

Ouiestion Number : 240 Question Id : 3430079423 Question Type : MOOQ Option Sholfling © Yes Display Question Numiber © Yes
Single Line Question Chplion : No Option Orientation : YVertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

Mo Coptrol Enpble : Yes
Correct Marks : 3 Wrong Muarks : 1
Cmestion Label - Muitiple Chotce Question

The radial acceleration is given by

Oypiions =
.l. |f :'_liﬂ Il
Fodr it /
2 b

2 it
dr i dB 4
— | —

3 rl‘]- ! I:f.r'
d-r [ 8"

- Bl _]
& di® it

~

-
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